
MATHS

BOOKS - BEYOND PUBLICATION

REAL NUMBERS

Example

1. Find 'q' and 'r' of the following pairs of positibe

integers 'a' and 'b', satisfied a=bq+r 

a = 13, b = 3

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ECfVPZjNtNYG


2. Find 'q' and 'r' of the following pairs of positibe

integers 'a' and 'b', satisfied a=bq+r 

a = 8, b = 80

Watch Video Solution

3. Find q and r for the following pairs of positive

integers a and b, satisfying . (iii) 

Watch Video Solution

a = bq + r

a = 125, b = 5

https://dl.doubtnut.com/l/_ECfVPZjNtNYG
https://dl.doubtnut.com/l/_qB6l7V7uPQo0
https://dl.doubtnut.com/l/_8tgsvDkxKDAE
https://dl.doubtnut.com/l/_2kPKQNVHykuY


4. Find q and r for the following pairs of positive

integers a and b, satisfying . (iv) 

Watch Video Solution

a = bq + r

a = 132, b = 11

5. Find the HCF of the following by using Euclid

division lemma. (i) 50 and 70

Watch Video Solution

6. Find the HCF of the following by using Euclid

division lemma. (ii) 96 and 72

https://dl.doubtnut.com/l/_2kPKQNVHykuY
https://dl.doubtnut.com/l/_hD3F4FzFpGgA
https://dl.doubtnut.com/l/_MxZkCh1FTjUQ


A. 23

B. 24

C. 25

D. 26

Answer:

Watch Video Solution

7. Find the HCF of the following by using Euclid

division lemma. (iii) 300 and 550

Watch Video Solution

https://dl.doubtnut.com/l/_MxZkCh1FTjUQ
https://dl.doubtnut.com/l/_tHUuEy3EvNh6


8. Find the HCF of the following by using Euclid

division lemna 

1860 and 2015

Watch Video Solution

9. Can you find the HCF of 1.2 and 0.12? Justify your

answer.

Watch Video Solution

https://dl.doubtnut.com/l/_EiJ32hXgArLG
https://dl.doubtnut.com/l/_wfbcp7H0FylK


10. Show that every positive even integer is of the

form 2q, and that every positive odd integer is of

the form 2q + 1, where q is some integer.

Watch Video Solution

11. Show that any positive odd integer is of the

form  where q is some integer.

Watch Video Solution

4q + 1 or 4q + 3,

https://dl.doubtnut.com/l/_4lC6BvPorfGg
https://dl.doubtnut.com/l/_WFGd9IIZfhWC


12. Use Euclid's division algorithm to find the HCF of

(i) 900 and 270

Watch Video Solution

13. Use Euclid's division algorithm to find the HCF of

(ii) 196 and 38220

Watch Video Solution

14. Use Euclid's division algorithm to find the HCF of

(iii) 1651 and 2032

https://dl.doubtnut.com/l/_TMhVBQbMMuLB
https://dl.doubtnut.com/l/_fouRwjFE4H0u
https://dl.doubtnut.com/l/_rGrYaQo4Lohc


Watch Video Solution

15. Use Euclid division lemma to show that any

positive odd integer is of the form

, where q is some integers.

Watch Video Solution

6q + 1 or 6q + 5

16. Use Euclids division lemma to show that the

cube of positive integer is of the form

 


(OR) 

Show that the cube of any positive integer is of

9m, 9m + 1 or 9m + 8.

https://dl.doubtnut.com/l/_rGrYaQo4Lohc
https://dl.doubtnut.com/l/_WAArGwlz0x4T
https://dl.doubtnut.com/l/_bvYp1BcjtOvT


form , where m is an

integer.

Watch Video Solution

9m or 9m + 1 or 9m + 8

17. Show that one and only one out of

 is diviseble by 3, where n is any

positive integer.

Watch Video Solution

n, n + 2 or n + 4

18. If , then what is the relationship between

a,b and q in  of Euclid division lemma?

r = 0

a = bq + r

https://dl.doubtnut.com/l/_bvYp1BcjtOvT
https://dl.doubtnut.com/l/_nLHLxs0wHon8
https://dl.doubtnut.com/l/_jzJFbu2oiKlS


Watch Video Solution

19. Express 2310 as a product of prime factors. Also

see how your friends have factorized the number.

Have they done it as you ? Verify your final product

with your friend's result. Try this for 3 or 4 more

numbers. What do you conclude?

Watch Video Solution

20. Find the HCF and LCM of the following given

pairs of numbers by prime factorisation 

120,9

https://dl.doubtnut.com/l/_jzJFbu2oiKlS
https://dl.doubtnut.com/l/_CTLrZBbgBBQZ
https://dl.doubtnut.com/l/_RrRi8jedNgEw


Watch Video Solution

21. Find the HCF and LCM of the following given

pairs of numbers by prime facrtorization. (ii) 50,60

Watch Video Solution

22. Find the HCF and LCM of the following given

pairs of numbers by prime facrtorization. (iii) 37,49

Watch Video Solution

https://dl.doubtnut.com/l/_RrRi8jedNgEw
https://dl.doubtnut.com/l/_il1HwUtX5N8F
https://dl.doubtnut.com/l/_FvQa3ak1SlrG


23. Consider the number  where n is a natural

number. Check whether there is any value of n

which  ends with the digit zero?

Watch Video Solution

4n

4n

24. Find the HCF and LCM of 12 and 18 by the prime

factorization method.

Watch Video Solution

https://dl.doubtnut.com/l/_sg9S0xWru01s
https://dl.doubtnut.com/l/_PCfB2eV7OCwZ


25. Show that  cannot end with the digit 0

or 5 for any natural numbers 'n' and 'm'.

Watch Video Solution

3n × 4m

26. Express each of the following numbers as a

product of its prime factors. (i) 140

Watch Video Solution

27. Express each of the following numbers as a

product of its prime factors. (ii) 156

https://dl.doubtnut.com/l/_c0ZiJ6DSuEyd
https://dl.doubtnut.com/l/_aQJ0IPYz4jvY
https://dl.doubtnut.com/l/_xO00lOapN863


Watch Video Solution

28. Express each of the following numbers as a

product of its prime factors. (iii) 3825

Watch Video Solution

29. Express each of the following numbers as a

product of its prime factors. (iv) 5005

Watch Video Solution

https://dl.doubtnut.com/l/_xO00lOapN863
https://dl.doubtnut.com/l/_B7vHE56fB3mP
https://dl.doubtnut.com/l/_t2A2J08Hr3lO


30. Express each of the following numbers as a

product of its prime factors. (v) 7429

Watch Video Solution

31. Find the L.C.M. and H.C.F of the following

integers by the prime factorization method. (i) 12,

15 and 21

Watch Video Solution

https://dl.doubtnut.com/l/_iFt7Sej7mCfo
https://dl.doubtnut.com/l/_yauNp50swaeJ


32. Find the L.C.M. and H.C.F of the following

integers by the prime factorization method. (ii) 17,

23 and 29

Watch Video Solution

33. Find the L.C.M. and H.C.F of the following

integers by the prime factorization method. (iii) 8,9

and 25

Watch Video Solution

https://dl.doubtnut.com/l/_tOHkcFkIr3Ox
https://dl.doubtnut.com/l/_qHyHXPyGcLkq


34. Find the L.C.M. and H.C.F of the following

integers by the prime factorization method. (iv) 72

and 108

Watch Video Solution

35. Find the L.C.M. and H.C.F of the following

integers by the prime factorization method. (v) 306

and 657

Watch Video Solution

https://dl.doubtnut.com/l/_jNa4S5Yc4qdZ
https://dl.doubtnut.com/l/_3aYZt4dJWFhD


36. Check whether  can end with the digit '0' for

any natural numbers n.

Watch Video Solution

6n

37. Explain why

are composite nubmers.

Watch Video Solution

7 × 11 × 13 + 13 and 7 × 6 × 5 × 4 × 3 × 2 × 1 + 5

https://dl.doubtnut.com/l/_XMNcfHai5q5m
https://dl.doubtnut.com/l/_zuBsK9QxNeuL


38. How will you show that

 is a composite

numbers ? Explain.

Watch Video Solution

(17 × 11 × 2) + (17 × 11 × 5)

39. What is the last digit of  ?

Watch Video Solution

6100

40. Write the following terminating decimals in the

form of  are co-primes (i) 15.265p/q, q ≠ 0 and p, q

https://dl.doubtnut.com/l/_oIqvDPt8mupM
https://dl.doubtnut.com/l/_YpbkyPmynICc
https://dl.doubtnut.com/l/_EHq3zfyyTdcD


What can you conclude about the denominators

through this process ?

Watch Video Solution

41. Write the following terminating decimals in the

form of  are co-primes (ii)

0.1255 

What can you conclude about the denominators

through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

https://dl.doubtnut.com/l/_EHq3zfyyTdcD
https://dl.doubtnut.com/l/_IeoFFdm34iBV


42. Write the following terminating decimals in the

form of  are co-primes (iii) 0.4 


What can you conclude about the denominators

through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

43. Write the following terminating decimals in the

form of  are co-primes (iv)

23.34 

What can you conclude about the denominators

through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

https://dl.doubtnut.com/l/_EzDiFZ9bmbc7
https://dl.doubtnut.com/l/_CnBcTwhFWTmj


Watch Video Solution

44. Write the following terminating decimals in the

form of  are co-primes (v) 1215.8

What can you conclude about the denominators

through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

45. Write the following rational numbers in the

form of  where q is of the form  where 

 are non-negative integers and then write the

numbers in their decimal form. (i) 

p/q, 2n5m

n, m

3

4

https://dl.doubtnut.com/l/_CnBcTwhFWTmj
https://dl.doubtnut.com/l/_OCJGoerppFnP
https://dl.doubtnut.com/l/_OByTseKf3VLC


Watch Video Solution

46. Write the following rational numbers in the

form of  where q is of the form  where 

 are non-negative integers and then write the

numbers in their decimal form. (ii) 

Watch Video Solution

p/q, 2n5m

n, m

7
25

47. Write the following rational numbers in the

form of  where q is of the form  where 

 are non-negative integers and then write the

numbers in their decimal form. (iii) 

p/q, 2n5m

n, m

51

64

https://dl.doubtnut.com/l/_OByTseKf3VLC
https://dl.doubtnut.com/l/_dtd5muZ4wR1x
https://dl.doubtnut.com/l/_8YzpKPlBuRlO


Watch Video Solution

48. Write the following rational numbers in the

form of  where q is of the form  where 

 are non-negative integers and then write the

numbers in their decimal form. (iv) 

Watch Video Solution

p/q, 2n5m

n, m

14
25

49. Write the following rational numbers in the

form of  where q is of the form  where p/q, 2n5m

https://dl.doubtnut.com/l/_8YzpKPlBuRlO
https://dl.doubtnut.com/l/_UK9PhsJr5obI
https://dl.doubtnut.com/l/_VntIFRj3dd34


 are non-negative integers and then write the

numbers in their decimal form. (v) 

Watch Video Solution

n, m

80

100

50. Write the folllowing rational numbers as

decimal form and find out the block of repeating

digits in the quotient. (i) 

Watch Video Solution

1

3

51. Write the folllowing rational numbers as

decimal form and find out the block of repeating

https://dl.doubtnut.com/l/_VntIFRj3dd34
https://dl.doubtnut.com/l/_acvXg9rjiPxu
https://dl.doubtnut.com/l/_KvKxWX6R5WDf


digits in the quotient. (ii) 

Watch Video Solution

2

7

52. Write the folllowing rational numbers as

decimal form and find out the block of repeating

digits in the quotient. (iii) 

Watch Video Solution

5

11

53. Write the folllowing rational numbers as

decimal form and find out the block of repeating

digits in the quotient. (iv) 
10

13

https://dl.doubtnut.com/l/_KvKxWX6R5WDf
https://dl.doubtnut.com/l/_iC79D0YDv52l
https://dl.doubtnut.com/l/_aQGHat2K2iqM


Watch Video Solution

54. Using the above theorems, without actual

division, state whether decimal form of the

following rational numbers are terminating or non-

terminating, repeating decimals. (i) 

Watch Video Solution

16

125

55. Using the above theorems, without actual

division, state whether decimal form of the

following rational numbers are terminating or non-

terminating, repeating decimals. (ii) 
25

32

https://dl.doubtnut.com/l/_aQGHat2K2iqM
https://dl.doubtnut.com/l/_jx3hsHzqxIAI
https://dl.doubtnut.com/l/_803NyVulPJcV


Watch Video Solution

56. Using the above theorems, without actual

division, state whether decimal form of the

following rational numbers are terminating or non-

terminating, repeating decimals. (iii) 

Watch Video Solution

100

81

57. Using the above theorems, without actual

division, state whether decimal form of the

https://dl.doubtnut.com/l/_803NyVulPJcV
https://dl.doubtnut.com/l/_CThC9iHS8c0P
https://dl.doubtnut.com/l/_6EBzIrhWZPAO


following rational numbers are terminating or non-

terminating, repeating decimals. (iv) 

Watch Video Solution

41

75

58. Write the decimal expansion of the following

rational numbers without actual division. (i) 

Watch Video Solution

35

50

59. Write the decimal expansion of the following

rational numbers without actual division. (ii) 

Watch Video Solution

21

25

https://dl.doubtnut.com/l/_6EBzIrhWZPAO
https://dl.doubtnut.com/l/_fdJ3aHoqjxeV
https://dl.doubtnut.com/l/_dF3pBOm3Um6u


60. Write the decimal expansion of the following

rational numbers without actual division. (iii) 

Watch Video Solution

7

8

61. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating repeating

decimals. (i) 

Watch Video Solution

3

8

https://dl.doubtnut.com/l/_dF3pBOm3Um6u
https://dl.doubtnut.com/l/_5ZpxtRVsHZXT
https://dl.doubtnut.com/l/_zzHLnGjAAksb
https://dl.doubtnut.com/l/_erpU30vwfE0p


62. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating repeating

decimals. (ii) 

Watch Video Solution

229

400

63. Write the following rational numbers in their

decimal form and also state which are terminating

and which are non-terminating, repeating decimal. 

Watch Video Solution

4
1

5

https://dl.doubtnut.com/l/_erpU30vwfE0p
https://dl.doubtnut.com/l/_aLH2b6z1GxG8
https://dl.doubtnut.com/l/_hyRZq0oPbGuW


64. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating repeating

decimals. (iv) 

Watch Video Solution

2

11

65. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating repeating

decimals. (v) 

Watch Video Solution

8

125

https://dl.doubtnut.com/l/_hyRZq0oPbGuW
https://dl.doubtnut.com/l/_rUqNRZIe8KsU


66. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (i) 

Watch Video Solution

13

3125

67. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (ii) 

Watch Video Solution

11

12

https://dl.doubtnut.com/l/_Qhq0OJayYLs5
https://dl.doubtnut.com/l/_Rk0DIEvBDqWy


68. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (iii) 

Watch Video Solution

64

455

69. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (iv) 

Watch Video Solution

15

1600

https://dl.doubtnut.com/l/_EejFRBCYd3tq
https://dl.doubtnut.com/l/_v9vCbuuoXoCD


70. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (v) 

Watch Video Solution

29

343

71. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (vi) 

Watch Video Solution

23

23 × 52

https://dl.doubtnut.com/l/_08RjW6oHKf41
https://dl.doubtnut.com/l/_XiQD4ibMMV6k


72. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (vii) 

Watch Video Solution

129

22.57.75

73. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (viii) 

Watch Video Solution

9

15

https://dl.doubtnut.com/l/_Bm8Guzh6Wbvn
https://dl.doubtnut.com/l/_V1czq81LEy9y


74. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (ix) 

Watch Video Solution

36

100

75. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (x) 

Watch Video Solution

77
210

https://dl.doubtnut.com/l/_tA33jdJSTEZc
https://dl.doubtnut.com/l/_eKPMifwjx6cb


76. Write the following rationals in decimal form

using 

Watch Video Solution

13

25

77. Write the decimal expansion of the following

rationals numbers 

Watch Video Solution

15

16

https://dl.doubtnut.com/l/_Ttg6Wx3PHzcW
https://dl.doubtnut.com/l/_eCrFNGri5Cyn


78. Write the decimal expansion of the following

rationals numbers 

Watch Video Solution

23

2352

79. Write the decimal expansion of the following

rationals numbers 

Watch Video Solution

7218

3252

https://dl.doubtnut.com/l/_sadXK6eoGXd2
https://dl.doubtnut.com/l/_x7yyzE9Z3z1k


80. Write the decimal expansion of the following

rationals numbers 

Watch Video Solution

143
110

81. The decimal form of some real numbers are

given below. In each case, decide whether the

number is rational or not. If it is rational, and

expressed in form , what can you say about the

prime factors of q? (iii) 

Watch Video Solution

p/q

43.123456789

https://dl.doubtnut.com/l/_EcRzVpuOHxdI
https://dl.doubtnut.com/l/_xlolujs6z9I6


82. The decimal form of some real numbers are

given below. In each case, decide whether the

number is rational or not. If it is rational, and

expressed in form , what can you say about the

prime factors of q? (ii)

Watch Video Solution

p/q

0.120120012000120000………….

83. The decimal form of some real numbers are

given below. In each case, decide whether the

number is rational or not. If it is rational number

and expressed in form , What can you say about
p

q

https://dl.doubtnut.com/l/_klIDLdqhvnJH
https://dl.doubtnut.com/l/_2WV3Dv9tEO4t


the prime factors of q? 

Watch Video Solution

43. ¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯123456789

84. Verify the statement proved above for

 and for 

Watch Video Solution

p = 2, p = 5

a2 = 1, 4, 9, 25, 36, 49, 64 and 81.

85. Show that  is irrational.

Watch Video Solution

√2

https://dl.doubtnut.com/l/_2WV3Dv9tEO4t
https://dl.doubtnut.com/l/_jZ6ddOS5NGuI
https://dl.doubtnut.com/l/_2aYrEcU4BgqC


86. Show that  is irrational.

Watch Video Solution

5 − √3

87. Show that  is irrational.

Watch Video Solution

3√2

88. Prove that  is irrational.

Watch Video Solution

√2 + √3

https://dl.doubtnut.com/l/_2aYrEcU4BgqC
https://dl.doubtnut.com/l/_BUFrKavAFuSF
https://dl.doubtnut.com/l/_kBmwg5zetzbi
https://dl.doubtnut.com/l/_ZFzfcZl5DpNd
https://dl.doubtnut.com/l/_CU1FR8yTpFUc


89. Prove that the following are irrational. (i) 

Watch Video Solution

1

√2

90. Prove that the following are irrational. (ii)

Watch Video Solution

√3 + √5

91. Prove that the following are irrational. (iii)

Watch Video Solution

6 + √2

https://dl.doubtnut.com/l/_CU1FR8yTpFUc
https://dl.doubtnut.com/l/_mSlZF4ShcaWG
https://dl.doubtnut.com/l/_cFKdJWlut6jc


92. Prove that the following are irrational. (iv) 

Watch Video Solution

√5

93. Prove that the following are irrational. (v)

Watch Video Solution

3 + 2√5

94. Prove that  is an irrational, where p,q

are primes.

Watch Video Solution

√p + √q

https://dl.doubtnut.com/l/_cFKdJWlut6jc
https://dl.doubtnut.com/l/_5rYJPEf8COmK
https://dl.doubtnut.com/l/_G0wPmzBzBsPA
https://dl.doubtnut.com/l/_gB6U1WeP0B2z


Watch Video Solution

95. Draw the graphs of , ,  and 

 in a single graph and mention your

observation

Watch Video Solution

y = 2x y = 4x
y = 8x

y = 10x

96. Write the nature of y.a and x in . Can you

determine the value of x for a given y ? Justify your

answer.

Watch Video Solution

y = ax

https://dl.doubtnut.com/l/_gB6U1WeP0B2z
https://dl.doubtnut.com/l/_DCJVVHL7vmjV
https://dl.doubtnut.com/l/_jI6pmjQjcREC
https://dl.doubtnut.com/l/_nq90TD2ydP5N


97. You know that

 What do

you notice about the values of

? What can you

generalise from this?

Watch Video Solution

21 = 2, 41 = 4, 81 = 8 and 101 = 10.

log2 2, log4 4, log8 8 and log10 10

98. Does  exist?

Watch Video Solution

log10 0

https://dl.doubtnut.com/l/_nq90TD2ydP5N
https://dl.doubtnut.com/l/_fX70OtUEkmWt


99. We know that, If  then  Then

what is the value of ? Justify your answer.

Generalise the above by taking some more

examples for 

Watch Video Solution

7 = 2x x = log2 7.

2log2 7

aloga N .

100. write the powers to which the bases to be

raised in the following 

Watch Video Solution

7 = 2x

https://dl.doubtnut.com/l/_6gkIRC9aFeKF
https://dl.doubtnut.com/l/_VB5ivSBeIpAK
https://dl.doubtnut.com/l/_XDfpxNjPK81h


101. write the powers to which the bases to be

raised in the following 

Watch Video Solution

10 = 5b

102. Write the powers to which the bases to be

raised in the following. (iii) 

Watch Video Solution

= 3c1

81

103. write the powers to which the bases to be

raised in the following 

https://dl.doubtnut.com/l/_XDfpxNjPK81h
https://dl.doubtnut.com/l/_VPLYOsXME19z
https://dl.doubtnut.com/l/_Q8jNiR0bfXoA


Watch Video Solution

100 = 10c

104. write the powers to which the bases to be

raised in the following 

Watch Video Solution

= 4n1

257

105. Express the logarithms of the following into

sum of the logarithms. (i) 

Watch Video Solution

35 × 46

https://dl.doubtnut.com/l/_Q8jNiR0bfXoA
https://dl.doubtnut.com/l/_tlSP40gsS7nw
https://dl.doubtnut.com/l/_VrZ7Ur6YsqLm


106. Express the logarithms of the following into

sum of the logarithms. (ii) 

Watch Video Solution

235 × 437

107. Express the logarithms of the following into

sum of the logarithms. (iii) 

Watch Video Solution

2437 × 3568

https://dl.doubtnut.com/l/_VrZ7Ur6YsqLm
https://dl.doubtnut.com/l/_LCb7oYPo51Xr
https://dl.doubtnut.com/l/_LqOXzknUA87z


108. Express the logarithms of the following into

difference of the logarithms. (i) 

Watch Video Solution

23

34

109. Express the logarithms of the following into

difference of the logarithms. (ii) 

Watch Video Solution

373

275

110. Express the logarithems of the following into

difference of the logarithem 

https://dl.doubtnut.com/l/_O3g6pRG39gAv
https://dl.doubtnut.com/l/_Q1NADQkEH2AV
https://dl.doubtnut.com/l/_2XI8GXQW3HhY


Watch Video Solution

4525 ÷ 3734

111. Express the logarithms of the following into

difference of the logarithms. (iv) 

Watch Video Solution

5055

3303

112. By using the formula 

convert the following. (i) 

Watch Video Solution

loga xn = n loga x,

log2 725

https://dl.doubtnut.com/l/_2XI8GXQW3HhY
https://dl.doubtnut.com/l/_qVggMpRCwudE
https://dl.doubtnut.com/l/_qQMozx2WyE6y
https://dl.doubtnut.com/l/_hlOKLaS0DmWe


113. By using the formula 

convert the following. (ii) 

Watch Video Solution

loga xn = n loga x,

log5 850

114. By using the formula 

convert the following. (iii) 

Watch Video Solution

loga xn = n loga x,

log 523

115. Write the following relation in expontial form

and find the values of respective variables. (i)

https://dl.doubtnut.com/l/_hlOKLaS0DmWe
https://dl.doubtnut.com/l/_3kCI083r9apl
https://dl.doubtnut.com/l/_FZuhaz9M9HAG


Watch Video Solution

log2 32 = x

116. Write the following relation in expontial form

and find the values of respective variables. (iI)

Watch Video Solution

log5 625 = y

117. Write the following relation in expontial form

and find the values of respective variables. (iii)

log10 10000 = z

https://dl.doubtnut.com/l/_FZuhaz9M9HAG
https://dl.doubtnut.com/l/_sXSWG68yz8sH
https://dl.doubtnut.com/l/_gTqr3LSlcAYv


Watch Video Solution

118. Write the following relation in expontial form

and find the values of respective variables. (iv)

Watch Video Solution

log7 = − a
1

343

119. Find the value of 

Watch Video Solution

log32
2

https://dl.doubtnut.com/l/_gTqr3LSlcAYv
https://dl.doubtnut.com/l/_gEgDpfU1NrMr
https://dl.doubtnut.com/l/_KLXvcVrSOeOX


120. (ii) Find the values of 

Watch Video Solution

logc √c.

121. Find the value of .

Watch Video Solution

log0.001
10

122. (iv) Find the value of .

Watch Video Solution

log 2
3

8

27

https://dl.doubtnut.com/l/_qXAE3RLpQiB5
https://dl.doubtnut.com/l/_CxZM2F7I4PFT
https://dl.doubtnut.com/l/_gHMLnFHFIIF7


123. Expand log 

Watch Video Solution

343
125

124. Write  as a single

logarithm.

Watch Video Solution

2 log 3 + 3 log 5 − 5 log 2

125. Solve 

Watch Video Solution

3x = 5x − 2.

https://dl.doubtnut.com/l/_sg0xlBLcVn78
https://dl.doubtnut.com/l/_cefXVvR0R6lO
https://dl.doubtnut.com/l/_PSgWbLPljT2z
https://dl.doubtnut.com/l/_lVOwD75l71jL


126. Find  if 

Watch Video Solution

x 2 log 5 + log 9 − log 3 = log x.
1

2

127. Determine the values of the following. (i)

Watch Video Solution

log25 5

128. Determine the values of the following. (ii)

Watch Video Solution

log81 3

https://dl.doubtnut.com/l/_lVOwD75l71jL
https://dl.doubtnut.com/l/_S4He5lQBJlk4
https://dl.doubtnut.com/l/_xbDi6Qg80eWz


129. Determine the values of the following. (iii)

Watch Video Solution

log2( )
1

16

130. Determine the values of the following. (iv)

Watch Video Solution

log7 1

131. Determine the values of the following. (v)

logx √x

https://dl.doubtnut.com/l/_xbDi6Qg80eWz
https://dl.doubtnut.com/l/_WOYgfu22qsAQ
https://dl.doubtnut.com/l/_PZWQXvO8rd2u
https://dl.doubtnut.com/l/_4vTjZ00tpxT6


Watch Video Solution

132. Determine the values of the following. (vi)

Watch Video Solution

log2 512

133. Determine the values of the following. (vii)

Watch Video Solution

log10 0.01

https://dl.doubtnut.com/l/_4vTjZ00tpxT6
https://dl.doubtnut.com/l/_X4kLq2Vl4JYB
https://dl.doubtnut.com/l/_dizJZoXx0qo1


134. Determine the values of the following. (viii)

Watch Video Solution

log ( )2
3

8

27

135. Determine the value of the following 

Watch Video Solution

22 + log 32base2

136. Write each of the following expressions as log

N. Determine the value of N. (You can assume the

https://dl.doubtnut.com/l/_EQ5KnqQEZRol
https://dl.doubtnut.com/l/_6hgr8KmdcnNZ
https://dl.doubtnut.com/l/_lUZQbUEK1Oqx


base is 10, but the results are identical which ever is

used). 

log2+log5

Watch Video Solution

137. Write each of the following expressions as log

N. Determine the value of N. (You can assume the

base is 10, but the results are identical which ever is

used). 

log 16- log 2

Watch Video Solution

https://dl.doubtnut.com/l/_lUZQbUEK1Oqx
https://dl.doubtnut.com/l/_9J22q8fuhffA
https://dl.doubtnut.com/l/_yohTW3xu4Sl4


138. Write each of the following expressions as log

N. Determine the value of N. (You can assume the

base is 10, but the results are identical which ever is

used). 

3 log 4

Watch Video Solution

139. Write each of the following expressions as log

N. Determine the value of N. (You can assume the

base is 10, but the results are identical which ever is

used). 

2 log 3- 3 log 2

https://dl.doubtnut.com/l/_yohTW3xu4Sl4
https://dl.doubtnut.com/l/_0CjLPYa6Csbo


Watch Video Solution

140. Write each of the following expressions as log

N. Determine the value of N. (You can assume the

base is 10, but the results are identical which ever is

used). 

log 243- log 1

Watch Video Solution

141. Write each of the following expressions as log

N. Determine the value of N. (You can assume the

base is 10, but the results are identical which ever is

https://dl.doubtnut.com/l/_0CjLPYa6Csbo
https://dl.doubtnut.com/l/_cTrugiYSim5J
https://dl.doubtnut.com/l/_8i4NzNgc2MzS


used). 

log 10 + 2log 3- log 2

Watch Video Solution

142. Evaluate each of the following in terms of x

and y, if it is given  (i) 

Watch Video Solution

x = log2 3 and y = log2 5.

log2 15

143. Evaluate each of the following in terms of x and

y, if it is given  (ii) x = log2 3 and y = log2 5.

https://dl.doubtnut.com/l/_8i4NzNgc2MzS
https://dl.doubtnut.com/l/_J33JI9iWtP2z
https://dl.doubtnut.com/l/_HLiUc1daSBjX


Watch Video Solution

log2 7.5

144. Evaluate each of the following in terms of x

and y, if it is given  (iii) 

Watch Video Solution

x = log2 3 and y = log2 5.

log2 60

145. Evaluate each of the following in terms of x

and y, if it is given  (iv) x = log2 3 and y = log2 5.

log2 6750

https://dl.doubtnut.com/l/_HLiUc1daSBjX
https://dl.doubtnut.com/l/_PQeB6FHtXowY
https://dl.doubtnut.com/l/_OKLSqnB5RBGG


Watch Video Solution

146. Expand the following. (i) 

Watch Video Solution

log 1000

147. Expand the following. (ii) 

Watch Video Solution

log[ ]
128

625

148. Expand the following. (iii) 

Watch Video Solution

log x2y3z4

https://dl.doubtnut.com/l/_OKLSqnB5RBGG
https://dl.doubtnut.com/l/_U2c9Su1E2YCa
https://dl.doubtnut.com/l/_7rsZRVSaCDSJ
https://dl.doubtnut.com/l/_LRcVyNDDvkmi


149. Expand the following 

Watch Video Solution

log( )
p2q3

r

150. Expand the following. (v) 

Watch Video Solution

log√
x3

y2

151. If  then prove that x2 + y2 = 25xy.

2 log(x + y) = 3 log 3 + log x + log y.

https://dl.doubtnut.com/l/_LRcVyNDDvkmi
https://dl.doubtnut.com/l/_2Ob3l0kkebA6
https://dl.doubtnut.com/l/_ewmIvgxft8AO
https://dl.doubtnut.com/l/_8pSwd3vIVMn6


Watch Video Solution

152. If , then find

the values of 

Watch Video Solution

log( ) = (log x + log y)
x + y

3

1

2

+ .
x

y

y

x

153. If  then find the value

of .

Watch Video Solution

(2.3)x = (0.23)y = 1000

−
1

x

1

y

https://dl.doubtnut.com/l/_8pSwd3vIVMn6
https://dl.doubtnut.com/l/_XL3UuUJM2Iy2
https://dl.doubtnut.com/l/_FCyXKGsBakDJ


154. If  then find the value of x.

Watch Video Solution

2x + 1 = 31 − x

155. Is (i) log 2 is rational or irrational ? Justify your

answer.

Watch Video Solution

156. Is (ii) log 100 is rational or irrational ? Justify

your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_rednv4PJI5aX
https://dl.doubtnut.com/l/_PYzjTCpSqD5O
https://dl.doubtnut.com/l/_S20JW0vRnOxU


157. Can the number , n being a natural number,

end with the digit 5 ? Give reason.

Watch Video Solution

6n

158. Is  a composite number ?

Justify your answer.

Watch Video Solution

7 × 5 × 3 × 2 + 3

https://dl.doubtnut.com/l/_S20JW0vRnOxU
https://dl.doubtnut.com/l/_B08IX2ncuq5Y
https://dl.doubtnut.com/l/_SwN1TBsL9YEm


159. Prove that  is an irrational

number. Also check whether

 is rational or irrational.

Watch Video Solution

(2√3 + √5)

(2√3 + √5)(2√3 − √5)

160. If  , prove that 2 log (x + y) =

logx + logy + 3 log 2

Watch Video Solution

x2 + y2 = 6xy

https://dl.doubtnut.com/l/_m1qhmNKRJCIO
https://dl.doubtnut.com/l/_77j7yqC6EGzN


161. Find the number of digit in , if 

.

Watch Video Solution

42013

log10 2 = 0.3010

162. Use Euclid's division algorithm to find the HCF

of 

500 and 150

Watch Video Solution

https://dl.doubtnut.com/l/_1OuA2YbZZly3
https://dl.doubtnut.com/l/_1xQ9eSbEzDEq


163. Use Euclid's division algorithm to find the HCF

of 

194 and 35890

Watch Video Solution

164. Use Euclid's division algorithm to find the HCF

of 

1550 and 3150

Watch Video Solution

https://dl.doubtnut.com/l/_Z8dCO2a3Ha01
https://dl.doubtnut.com/l/_4iH6WrfHeQaB


165. Use Euclid division Lemma to show that any

positive even interger is of the form 4q or 4q+2 or

4q+4 when q is some integer.

Watch Video Solution

166. Use Eulcid division Lemma to show that any

positive odd integer is the form 2q+1 , 2q+3 or 2q+5

when q is some integer.

Watch Video Solution

https://dl.doubtnut.com/l/_GhjZjvKdtw4N
https://dl.doubtnut.com/l/_RJxzNOLQ0BON


167. Use Euclid division Lemma to show that any

positive even integer is of the form. 2q or 2q+2 or

2q+4 where q is some integer.

Watch Video Solution

168. Express each number as a product of its prime

factos 

540

Watch Video Solution

https://dl.doubtnut.com/l/_NcJ1tWTYBknN
https://dl.doubtnut.com/l/_gurRQ96Ao3i5


169. Express each number as a prodcut of its prime

factors. 

882

Watch Video Solution

170. Express each number as a product of its prime

factos 

1764

Watch Video Solution

https://dl.doubtnut.com/l/_yF5aBfDPJagl
https://dl.doubtnut.com/l/_ntllQj66pAS1


171. Express each number as a product of its prime

factos 

1080

Watch Video Solution

172. Express each number as a product of its prime

factos 

6292

Watch Video Solution

https://dl.doubtnut.com/l/_ZFq2lmbBizkA
https://dl.doubtnut.com/l/_UUeZ236SE94A


173. Find the LCm and HCF of the following integers

by the prime factorisation method. 

10, 15 and 35

Watch Video Solution

174. Find the LCm and HCF of the following integers

by the prime factorisation method. 

13, 17 and 23

Watch Video Solution

https://dl.doubtnut.com/l/_pcFPydfvCm1D
https://dl.doubtnut.com/l/_iVCdisNAbkbk


175. Find the LCm and HCF of the following integers

by the prime factorisation method. 

7,9 and 25

Watch Video Solution

176. Find the LCm and HCF of the following integers

by the prime factorisation method. 

84 and 108

Watch Video Solution

https://dl.doubtnut.com/l/_FfgXiaChmZj2
https://dl.doubtnut.com/l/_uRkl9SMnd4ID


177. Find the LCm and HCF of the following integers

by the prime factorisation method. 

234 and 747

Watch Video Solution

178. Explain why  is a composite

number.

Watch Video Solution

5 × 11 × 12 + 12

https://dl.doubtnut.com/l/_jMCOLsU23vY0
https://dl.doubtnut.com/l/_f0I8FoeZyZuA


179. How will you show that

 is a

composite number? Explain.

Watch Video Solution

41 × 17 × 61 × 3 + 41 × 17 × 31 × 5

180. Expenses each number as a product of its

prime factors. 

504

Watch Video Solution

https://dl.doubtnut.com/l/_DpJxq7i1mx2n
https://dl.doubtnut.com/l/_8QfFHloLqssY


181. Expenses each number as a product of its

prime factors. 

756

Watch Video Solution

182. Expenses each number as a product of its

prime factors. 

1800

Watch Video Solution

https://dl.doubtnut.com/l/_9R8FLr382s1F
https://dl.doubtnut.com/l/_YZTajlJiRK2A


183. Expenses each number as a product of its

prime factors. 

8228

Watch Video Solution

184. Expenses each number as a product of its

prime factors. 

6084

Watch Video Solution

https://dl.doubtnut.com/l/_AYHLgpQOYs2o
https://dl.doubtnut.com/l/_W8x2xW3QExlI


185. Explain why 

a composite number.

Watch Video Solution

31 × 17 × 13 × 12 + 31 × 17 × 5

186. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating, a repeating

decimal. 

Watch Video Solution

5

8

https://dl.doubtnut.com/l/_abUrm0Wu6OsM
https://dl.doubtnut.com/l/_FWXAYC15r1kr
https://dl.doubtnut.com/l/_Ba4DS5SmmDhk


187. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating, a repeating

decimal. 

Watch Video Solution

17
200

188. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating, a repeating

decimal. 

21

125

https://dl.doubtnut.com/l/_Ba4DS5SmmDhk
https://dl.doubtnut.com/l/_Swwam06MajWS


Watch Video Solution

189. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating, a repeating

decimal. 

Watch Video Solution

7
11

190. Without actually performing division. State

whether the folloiwng rational numbers will have a

terminating decimal form or a non-terminating,

https://dl.doubtnut.com/l/_Swwam06MajWS
https://dl.doubtnut.com/l/_W73bUkVCkXjI
https://dl.doubtnut.com/l/_0Uy5tI0VlV1N


repeating decimal form. 

Watch Video Solution

14
625

191. Without actually performing division. State

whether the folloiwng rational numbers will have a

terminating decimal form or a non-terminating,

repeating decimal form. 

Watch Video Solution

13

12

https://dl.doubtnut.com/l/_0Uy5tI0VlV1N
https://dl.doubtnut.com/l/_AaKyyYE8Fxev


192. Without actually performing division. State

whether the folloiwng rational numbers will have a

terminating decimal form or a non-terminating,

repeating decimal form. 

\

Watch Video Solution

74

455

193. Without actually performing division. State

whether the folloiwng rational numbers will have a

terminating decimal form or a non-terminating,

repeating decimal form. 

76

200

https://dl.doubtnut.com/l/_eaEo4ispdiOU
https://dl.doubtnut.com/l/_32GfID7BeFzE


Watch Video Solution

194. Write the decimal expansion of the following: 

Watch Video Solution

27
25

195. Write the decimal expansion of the following: 

Watch Video Solution

35

32

https://dl.doubtnut.com/l/_32GfID7BeFzE
https://dl.doubtnut.com/l/_brqgHBeEI3RT
https://dl.doubtnut.com/l/_AbwBuZKjJeLW


196. Write the decimal expansion of the following: 

Watch Video Solution

43

2352

197. Write the decimal expansion of the following: 

Watch Video Solution

729

3252

198. Write the decimal expansion of the following 

17

25

https://dl.doubtnut.com/l/_vyCgjymIqTl8
https://dl.doubtnut.com/l/_JKZ9bKGX6ncs
https://dl.doubtnut.com/l/_GHrQv64Bf9gT


Watch Video Solution

199. Write the decimal expansion of the following 

Watch Video Solution

35

16

200. Write the decimal expansion of the following 

Watch Video Solution

33

2352

https://dl.doubtnut.com/l/_GHrQv64Bf9gT
https://dl.doubtnut.com/l/_HwgHkbL6Ja4W
https://dl.doubtnut.com/l/_QnssNDR1TQ4y


201. Write the decimal expansion of the following 

Watch Video Solution

243

3252

202. Prove the following are irrational. 

Watch Video Solution

√2 + √5

203. Prove the following are irrational. 

√7 + √3

https://dl.doubtnut.com/l/_4AIOg7JJcYhw
https://dl.doubtnut.com/l/_XQh62GaFtOkK
https://dl.doubtnut.com/l/_j1jh7RhGVv0y


Watch Video Solution

204. Prove the following are irrational. 

Watch Video Solution

7 + √3

205. Prove the following are irrational. 

Watch Video Solution

6 − √2

https://dl.doubtnut.com/l/_j1jh7RhGVv0y
https://dl.doubtnut.com/l/_wTLK3GAyCfUp
https://dl.doubtnut.com/l/_Xnu9C0guC8vr


206. Prove that  is irrational when p,q are

primes.

Watch Video Solution

√p − √q

207. Prove that the following are irrational. (ii)

Watch Video Solution

√3 + √5

208. Prove that the following are irrational. 

√3

https://dl.doubtnut.com/l/_sqYdcJx7UJjq
https://dl.doubtnut.com/l/_vw811hGOOeMW
https://dl.doubtnut.com/l/_krtQMvnIL9Sb


Watch Video Solution

209. Prove that the following are irrational. 

Watch Video Solution

7 + √2

210. Determine the value of the following 

Watch Video Solution

log3
27

https://dl.doubtnut.com/l/_krtQMvnIL9Sb
https://dl.doubtnut.com/l/_OC6QjQgrLBp9
https://dl.doubtnut.com/l/_VgTstwx66xAr


211. Determine the value of the following 

Watch Video Solution

log5
625

212. Determine the value of the following 

Watch Video Solution

log2

1
64

213. Determine the value of the following 

log1
5

https://dl.doubtnut.com/l/_3rOWAAmcYrEf
https://dl.doubtnut.com/l/_daxZClnDYsFA
https://dl.doubtnut.com/l/_kAFAHJ45RpN2


Watch Video Solution

214. Determine the value of the following 

Watch Video Solution

log
√a
a

215. Determine the value of the following 

Watch Video Solution

log256
2

https://dl.doubtnut.com/l/_kAFAHJ45RpN2
https://dl.doubtnut.com/l/_KBNqoiRyEW3w
https://dl.doubtnut.com/l/_TnikIWTSx9Ci


216. =

Watch Video Solution

log10 0.001

217. Write each of the following expressions as log

N. Determine the value of N. 

log 2+ log 50

Watch Video Solution

218. Write each of the following expressions as log

N. Determine the value of N. 

https://dl.doubtnut.com/l/_4dB0EPrLlLHz
https://dl.doubtnut.com/l/_NY0kk7OXcPjZ
https://dl.doubtnut.com/l/_xHBszwdlgolE


log 50-log 2

Watch Video Solution

219. Write each of the following expressions as log

N. Determine the value of N. 

4 log 3

Watch Video Solution

220. Simplify each of the following expressionsas

logN. Determine the value of N. 

3 log 2 -2 log 3

https://dl.doubtnut.com/l/_xHBszwdlgolE
https://dl.doubtnut.com/l/_RYm08YndX0tN
https://dl.doubtnut.com/l/_xduVaXJdxzFL


Watch Video Solution

221. Write each of the following expressions as log

N. Determine the value of N. 

log 343 + log 1

Watch Video Solution

222. Write each of the following expressions as log

N. Determine the value of N. 

3 log 2 + 2 log 5-4log 2

Watch Video Solution

https://dl.doubtnut.com/l/_xduVaXJdxzFL
https://dl.doubtnut.com/l/_i2OGdsZlD8vu
https://dl.doubtnut.com/l/_Km88JBEPOTCT


223. Evaluate each of the following in terms of x

and y, if it is given  (ii) 

Watch Video Solution

x = log2 3 and y = log2 5.

log2 7.5

224. Evaluate each of the following in terms of x

and y, if it is given  and . 


Watch Video Solution

x = log3
2 y = log5

2

log4.5
2

https://dl.doubtnut.com/l/_HNx2cdHXIgdv
https://dl.doubtnut.com/l/_nmNnVm2KHwWs


225. Evaluate each of the following in terms of x

and y, if it is given  and . 


Watch Video Solution

x = log3
2 y = log5

2

log90
2

226. Expand the following. (i) 

Watch Video Solution

log 1000

227. Expand the following 

log( )
243
625

https://dl.doubtnut.com/l/_A96HkJycRBCi
https://dl.doubtnut.com/l/_jtVg0FQajEbw
https://dl.doubtnut.com/l/_g12xzDnQIbM0


Watch Video Solution

228. Expand the following 

Watch Video Solution

log(x3y2z5)

229. Expand the following 

Watch Video Solution

log( )
p3q4

r

https://dl.doubtnut.com/l/_g12xzDnQIbM0
https://dl.doubtnut.com/l/_eW6kOeskNEnm
https://dl.doubtnut.com/l/_9B0NLYAFFLzT


230. Expand the following 

Watch Video Solution

log√
x5

y3

231. Determine the value of the following 

Watch Video Solution

log4
64

232. Determine the value of the following 

log6
216

https://dl.doubtnut.com/l/_zMccLyxGC4pL
https://dl.doubtnut.com/l/_qEIVidz1Q8SZ
https://dl.doubtnut.com/l/_CHCAFt8uQKfB


Watch Video Solution

233. Determine the value of the following 

Watch Video Solution

log3

1
81

234. Determine the value of the following 

Watch Video Solution

log
√b
b

https://dl.doubtnut.com/l/_CHCAFt8uQKfB
https://dl.doubtnut.com/l/_GscXz668UJWk
https://dl.doubtnut.com/l/_LqOmfL8kV90D


235. Determine the value of the following 

Watch Video Solution

log625
5

236. Determine the value of the following 

Watch Video Solution

log
16
625
2
5

237. Determine the value of the following 

log0.0001
10

https://dl.doubtnut.com/l/_IT6GHm3ya6qn
https://dl.doubtnut.com/l/_GopWsfYzPnT7
https://dl.doubtnut.com/l/_4VjqYGSimq7k


Watch Video Solution

238. Determine the value of the following 

Watch Video Solution

32 + log7
3

239. Write each of the following expressions as

below. Determine the value of N. (take the base as

10) 

log 4+ log 25

Watch Video Solution

https://dl.doubtnut.com/l/_4VjqYGSimq7k
https://dl.doubtnut.com/l/_6BnDpcirVsiE
https://dl.doubtnut.com/l/_WoLAc2cy9UFC


240. Write each of the following expressions as

below. Determine the value of N. (take the base as

10) 

log 100 - log 2

Watch Video Solution

241. Write each of the following expressions as

below. Determine the value of N. (take the base as

10) 

3 log 5

Watch Video Solution

https://dl.doubtnut.com/l/_6ZI6yiNfxD2g
https://dl.doubtnut.com/l/_f5C2QsmtOqdV


242. Write each of the following expressions as

below. Determine the value of N. (take the base as

10) 

2log 4- 3 log 2

Watch Video Solution

243. Write each of the following expressions as

logN. Determine the value of N. (take the base as

10) 

log 625+ log 1

Watch Video Solution

https://dl.doubtnut.com/l/_V6STiEsJpdld
https://dl.doubtnut.com/l/_fLtIM5UtmvHI


244. Write each of the following expressions as

logN. Determine the value of N. (take the base as

10) 

2 log 3+ 3log 4 - 2 log 5

Watch Video Solution

245. Find the value of .

Watch Video Solution

log0.001
10

https://dl.doubtnut.com/l/_5a3x07cpN9N4
https://dl.doubtnut.com/l/_NYOe8iLFVxAe


246. Find the LCM and HCF of the following integers

by the prime factorization method. 72 and 108

Watch Video Solution

247. Write 2log3+3log5 -5log2 as a single logarithm.

Watch Video Solution

248. Prove that the  is irrational.

Watch Video Solution

1

√3

https://dl.doubtnut.com/l/_toI472L2t2vo
https://dl.doubtnut.com/l/_9QR1GwQXT5CA
https://dl.doubtnut.com/l/_QyMFqdTDnSzh
https://dl.doubtnut.com/l/_LFj2RUI3Jujo


249. Prove that the following are irrational. (v)

Watch Video Solution

3 + 2√5

250. Determine the value of 

Watch Video Solution

log
243
3125
3
5

251. Solve 

Watch Video Solution

7x = 9x − 2

https://dl.doubtnut.com/l/_LFj2RUI3Jujo
https://dl.doubtnut.com/l/_SavhLe5o4JWN
https://dl.doubtnut.com/l/_CLQ81neyuzKo
https://dl.doubtnut.com/l/_3xH3Q0u3cwvA


252. Establish the relation among the sets of Real

numbers, Rational, Irrational, Integers, whole

numbers and Natural numbers using Venn

Diagrams.

Watch Video Solution

253. Prove that  is an Irrational Number.

Also check whether  a

rational or Irrational.

Watch Video Solution

2√5 + √7

(2√5 + √7)(2√5 − √7)

https://dl.doubtnut.com/l/_3xH3Q0u3cwvA
https://dl.doubtnut.com/l/_tB58HseQAI0M


254. Insert 4 rational numbers between  and 1

without using  formula.

Watch Video Solution

3

4
a + b

2

255. Write any three numbers of two digit its. Find

the LCM and HCF for the above numbers by the

Prime Factorization method.

Watch Video Solution

https://dl.doubtnut.com/l/_QqRx25ARGtxA
https://dl.doubtnut.com/l/_Uaa888Y1UTXZ


256. Give an example for each of the following: 

(i) The product of two irrational numbers is a

rational number.

Watch Video Solution

257. Give an example for each of the following: 

(ii) The product of two irrational numbers is an

irrational number.

Watch Video Solution

https://dl.doubtnut.com/l/_XXgZCs5Vrrgp
https://dl.doubtnut.com/l/_MqEKzhTT5q4P


258. Find the value of 

Watch Video Solution

log5 125.

259. If  then show that 

Watch Video Solution

x2 + y2 = 7xy

2 log(x + y) = log x + log y + 2 log 3.

260. Use Euclid's division lemma to show that the

cube of any positive integer is of the form 7m or

.7m + 1 or 7m + 6

https://dl.doubtnut.com/l/_GpY6sp52omJ5
https://dl.doubtnut.com/l/_CHAVQjVmyuB0
https://dl.doubtnut.com/l/_2l5eVDeiKjfc


Watch Video Solution

261. Prove that  is a irrational number.

Watch Video Solution

√2 − 3√5

262. Express the number 540 as a product of it's

prime factors.

Watch Video Solution

https://dl.doubtnut.com/l/_2l5eVDeiKjfc
https://dl.doubtnut.com/l/_XZfftsAELr57
https://dl.doubtnut.com/l/_kDtJw7f2EpXy


263. Express the number 822 as a product of it's

primne factors.

Watch Video Solution

264. 10,15,35 are the integers then find the L.C.M

and H.C.F by the prime factorization method.

Watch Video Solution

265. 7,9, 25 are the integers then find the L.C.M and

H.C.F. by the prime factorisation method.

https://dl.doubtnut.com/l/_BFswucZGGesV
https://dl.doubtnut.com/l/_ihGId6VYmQJG
https://dl.doubtnut.com/l/_WXKiIVpglhLn


Watch Video Solution

266. 84,108 are the integers then find the L.C.M. and

H.C.F. by the prime factorisation method.

Watch Video Solution

267. 234 and 747 are the integers then find the

L.C.M and H.C.F. by the prime factorisation method.

Watch Video Solution

https://dl.doubtnut.com/l/_WXKiIVpglhLn
https://dl.doubtnut.com/l/_D2SGrYcUYqfy
https://dl.doubtnut.com/l/_0gqaO3ssks7h


268. Explain why  is a composite

number.

Watch Video Solution

5 × 11 × 12 + 12

269. How will you show that

 is a

composite number? Explain.

Watch Video Solution

41 × 17 × 61 × 3 + 41 × 17 × 31 × 5

270. Write the number  as a decimal form
17
200

https://dl.doubtnut.com/l/_7te8pn5U4ES6
https://dl.doubtnut.com/l/_2ojFqenvp5pB
https://dl.doubtnut.com/l/_3Pez3RMOaQng


Watch Video Solution

271. Write the number  as a decimal form.

Watch Video Solution

5

8

272. Prove the following are irrational. 

Watch Video Solution

√2 + √5

273. Prove that  is a irrational number.

W h Vid S l i

7 + √3

https://dl.doubtnut.com/l/_3Pez3RMOaQng
https://dl.doubtnut.com/l/_3D5eu1LrCsnK
https://dl.doubtnut.com/l/_xzPpBy2YAO6v
https://dl.doubtnut.com/l/_1zAfZkKBQVh1


Watch Video Solution

274. Find the logarithm of 

Watch Video Solution

3025 × 3041

275. Find the logarithm of 

Watch Video Solution

4046 × 5021

276. Find the logarithm of 

Watch Video Solution

2026

2043

https://dl.doubtnut.com/l/_1zAfZkKBQVh1
https://dl.doubtnut.com/l/_FjDlqCb6wWHt
https://dl.doubtnut.com/l/_Ge17rX6iwy9L
https://dl.doubtnut.com/l/_0QqLis2R80Zq


277. Prove that  is irrational.

Watch Video Solution

√3 + √7

278. Prove that  is irrational.

Watch Video Solution

√5 + √11

279. Write the  as decimal form.

Watch Video Solution

253

110

https://dl.doubtnut.com/l/_imlSPh1xyPcX
https://dl.doubtnut.com/l/_rCI8inNM2l4s
https://dl.doubtnut.com/l/_EWpoOmJt3IJX


280. Express the following numbers as a product of

its prime factor. 

250

Watch Video Solution

281. Express the following numbers as a product of

its prime factor. 

476

Watch Video Solution

https://dl.doubtnut.com/l/_PyzfHuO1CYMq
https://dl.doubtnut.com/l/_7Oq54Zs4FALF


282. Express the following numbers as a product of

its prime factor. 

525

Watch Video Solution

283. Prove that  is the irrational number.

Watch Video Solution

6 + √2

284. Find the value of .

Watch Video Solution

log3

1
9

https://dl.doubtnut.com/l/_DmBzHfqp8B7l
https://dl.doubtnut.com/l/_iqVWjP6t6lqg
https://dl.doubtnut.com/l/_r8VV6wOBBNBw


285. HCF of 1 and 243.

Watch Video Solution

286. 

Watch Video Solution

√12544 = ……………

287. 

Watch Video Solution

(log x) − (log y) − ……. .
3

2

https://dl.doubtnut.com/l/_r8VV6wOBBNBw
https://dl.doubtnut.com/l/_hknQpvV1X1xx
https://dl.doubtnut.com/l/_3XjhqBipEfwz
https://dl.doubtnut.com/l/_pmhP3H0hfwkK
https://dl.doubtnut.com/l/_flBay1x1Gdhk


Exercise

288. Expand form of log 1000 is

Watch Video Solution

289. log form of  is………..

Watch Video Solution

35 = 243

1. Use Euclid's division algorithm to find the HCF of 

270 and 450

W t h Vid S l ti

https://dl.doubtnut.com/l/_flBay1x1Gdhk
https://dl.doubtnut.com/l/_9YCMSK8aTQeZ
https://dl.doubtnut.com/l/_X5ObL59aODMo


Watch Video Solution

2. Use Euclid's division algorithm to find the HCF of 

197 and 39006

Watch Video Solution

3. Use Euclid's division algorithm to find the HCF of 

3302 and 4064.

Watch Video Solution

https://dl.doubtnut.com/l/_X5ObL59aODMo
https://dl.doubtnut.com/l/_EsGHR4gl53JO
https://dl.doubtnut.com/l/_bXeQnKiozlSa


4. Use Euclid division lemma to show that any

positive even integer is of the form 6q or 6q+2 or

6q+4, where q is some intergers.

Watch Video Solution

5. Express each number as a prodcut of its prime

factors. 

648

Watch Video Solution

https://dl.doubtnut.com/l/_mwh39pIs4ywe
https://dl.doubtnut.com/l/_n4Zi6HfO4yec


6. Express each number as a prodcut of its prime

factors. 

864

Watch Video Solution

7. Express each number as a prodcut of its prime

factors. 

450

Watch Video Solution

https://dl.doubtnut.com/l/_GydTtawD9iZW
https://dl.doubtnut.com/l/_i3AweR0Y9xcS


8. Express each number as a prodcut of its prime

factors. 

882

Watch Video Solution

9. Express each number as a prodcut of its prime

factors. 

1144

Watch Video Solution

https://dl.doubtnut.com/l/_xBo3uNeIcg8m
https://dl.doubtnut.com/l/_PALYAHF4vQLM


10. Find the LCM and HCF of the following integers

by applying the prime factorisation. 

14,20, 18

Watch Video Solution

11. Find the LCM and HCF of the following integers

by applying the prime factorisation. 

13,19, 23

Watch Video Solution

https://dl.doubtnut.com/l/_yhrPVIZcK2Hh
https://dl.doubtnut.com/l/_Z5AeuF70eAKw


12. Find the LCM and HCF of the following integers

by applying the prime factorisation. 

48, 72

Watch Video Solution

13. Find the LCM and HCF of the following integers

by applying the prime factorisation. 

156, 195

Watch Video Solution

https://dl.doubtnut.com/l/_Yay0AnRCFm1v
https://dl.doubtnut.com/l/_RuNHyK5ZI5cS


14. Find the LCM and HCF of the following integers

by applying the prime factorisation. 

80, 96, 112

Watch Video Solution

15. Explain why  is a composite

number ?

Watch Video Solution

19 × 23 × 29 + 17

https://dl.doubtnut.com/l/_fACR1TEtegE9
https://dl.doubtnut.com/l/_TyseixRhMmlS


16. How will you show that

 is a

composite number? Explain (Hint: A composite

number can be factorised as the product of

primes.)

Watch Video Solution

(31 × 37 × 41 × 3) + (31 × 37 × 41 × 5)

17. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating, repeating decimal

expansions. 

1

8

https://dl.doubtnut.com/l/_RdTkuEpOmrj7
https://dl.doubtnut.com/l/_MT2RzMl4joPM


Watch Video Solution

18. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating, repeating decimal

expansions. 

Watch Video Solution

11

30

19. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating, repeating decimal

https://dl.doubtnut.com/l/_MT2RzMl4joPM
https://dl.doubtnut.com/l/_UqHwhIgYphPj
https://dl.doubtnut.com/l/_xlBpWTkfVwZX


expansions. 

Watch Video Solution

13

44

20. Write the following rational numbers in their

decimal form and also state which are terminating

and which have non-terminating, repeating decimal

expansions. 

Watch Video Solution

29

40

https://dl.doubtnut.com/l/_xlBpWTkfVwZX
https://dl.doubtnut.com/l/_9easOSlY3eRo


21. Without actually performing long division, state

whether the folloiwng rational nmumbers will have

a terminating decimal expansion or a non-

terminating, repeating decimal expansion. 

Watch Video Solution

17
50

22. Without actually performing long division, state

whether the folloiwng rational nmumbers will have

a terminating decimal expansion or a non-

terminating, repeating decimal expansion. 

7

8

https://dl.doubtnut.com/l/_jDNUS1qTVo0r
https://dl.doubtnut.com/l/_A9p2wrlAdLIR


Watch Video Solution

23. Without actually performing long division, state

whether the folloiwng rational nmumbers will have

a terminating decimal expansion or a non-

terminating, repeating decimal expansion. 

Watch Video Solution

15

117

24. Without actually performing long division, state

whether the folloiwng rational nmumbers will have

a terminating decimal expansion or a non-

https://dl.doubtnut.com/l/_A9p2wrlAdLIR
https://dl.doubtnut.com/l/_dvPO1cUcSNpi
https://dl.doubtnut.com/l/_irLntOpRT3LF


terminating, repeating decimal expansion. 

Watch Video Solution

2

15

25. Write the decimal expansion of the following 

Watch Video Solution

17
25

26. Write the decimal expansion of the following 

Watch Video Solution

31

22 × 52

https://dl.doubtnut.com/l/_irLntOpRT3LF
https://dl.doubtnut.com/l/_lwOSJIOkGfyX
https://dl.doubtnut.com/l/_LeopP5rXMTkr


27. Write the decimal expansion of the following 

Watch Video Solution

643

32 × 52

28. Write the decimal expansion of the following 

Watch Video Solution

134

110

https://dl.doubtnut.com/l/_LeopP5rXMTkr
https://dl.doubtnut.com/l/_7T6hBsopt38G
https://dl.doubtnut.com/l/_QJGDZx9HhMJj


29. Prove that the following are irrational. (ii)

Watch Video Solution

√3 + √5

30. Prove that the following are irrational. 

Watch Video Solution

√3

31. Prove that the following are irrational. 

7 + √2

https://dl.doubtnut.com/l/_8nVO65v3FOpl
https://dl.doubtnut.com/l/_B4iVk8ZKGCvo
https://dl.doubtnut.com/l/_lTHKpDBu7H5W


Watch Video Solution

32. Prove that the following are irrational. 

Watch Video Solution

3√2

33. Prove that the following are irrational. 

Watch Video Solution

3 − √5

https://dl.doubtnut.com/l/_lTHKpDBu7H5W
https://dl.doubtnut.com/l/_pgUhtp04LIEx
https://dl.doubtnut.com/l/_eS4g1vmuVkqH


34. Prove that  is irrational, where a, b are

primes.

Watch Video Solution

√a + √b

35. Write the following using logarithms. 

Watch Video Solution

45 = 1024

36. Write the following using logarithms. 

38 = 6561

https://dl.doubtnut.com/l/_D0FCNEFtk0IW
https://dl.doubtnut.com/l/_OaT2CFPQEZIs
https://dl.doubtnut.com/l/_svNtsFrDfSPA


Watch Video Solution

37. Write the following using logarithms. 

Watch Video Solution

104 = 10000

38. Write the following using logarithms. 

Watch Video Solution

10− 5 = 0.00001

https://dl.doubtnut.com/l/_svNtsFrDfSPA
https://dl.doubtnut.com/l/_OoFVzqQqDJlk
https://dl.doubtnut.com/l/_qctUCmXdL0Jt


39. Write the following using logarithms. 

Watch Video Solution

m0 = 1

40. Write the following using logarithms. 

Watch Video Solution

3− 2 =
1

9

41. Write the following using powers 

log10 1000 = 3

https://dl.doubtnut.com/l/_gBgqWAd235NQ
https://dl.doubtnut.com/l/_iFI1710Js9ja
https://dl.doubtnut.com/l/_oSCJVSjsauRf


Watch Video Solution

42. Write the following using powers 

Watch Video Solution

log8 0.125 = − 1

43. Write the following using powers 

Watch Video Solution

log10 0.01 = − 2

https://dl.doubtnut.com/l/_oSCJVSjsauRf
https://dl.doubtnut.com/l/_qI6PuuO8TXoy
https://dl.doubtnut.com/l/_sulljIibLYvW


44. Write the following using powers 

Watch Video Solution

log0.5 16 = − 4

45. Write the following using powers 

Watch Video Solution

log5 125 = 3

46. Write the following using powers 

log5 1 = 0

https://dl.doubtnut.com/l/_qWtyns5zBWAx
https://dl.doubtnut.com/l/_xupRr43wpnTg
https://dl.doubtnut.com/l/_8FYvQNHmOTGo


Watch Video Solution

47. Determine the value of the following 

Watch Video Solution

log8 128

48. Write the following using powers 

Watch Video Solution

log 2561
2

https://dl.doubtnut.com/l/_8FYvQNHmOTGo
https://dl.doubtnut.com/l/_JK04VzwR9aYI
https://dl.doubtnut.com/l/_ANh4EwCyzTBk


49. Write the following using powers 

Watch Video Solution

log3√3 27

50. Write the following using powers 

Watch Video Solution

log6 216

51. Write the following using powers 

log ( )1
2

1

16

https://dl.doubtnut.com/l/_dSzeTzPriY2t
https://dl.doubtnut.com/l/_nnuGkfILThJT
https://dl.doubtnut.com/l/_k2mpgNGxz1O7


Watch Video Solution

52. Write the following using powers 

Watch Video Solution

log3( )
1

9

53. Simplify each of the following expressionsas

logN. Determine the value of N. 

3 log 2 -2 log 3

Watch Video Solution

https://dl.doubtnut.com/l/_k2mpgNGxz1O7
https://dl.doubtnut.com/l/_DYAlKMxnQaoq
https://dl.doubtnut.com/l/_5zSNmlS6bVmX
https://dl.doubtnut.com/l/_LikfqGRqwjsB


54. Simplify each of the following expressionsas

logN. Determine the value of N. 

log 5 + log 8 - 2log 2

Watch Video Solution

55. Simplify each of the following expressionsas

logN. Determine the value of N. 

log 4 + 2log 3

Watch Video Solution

https://dl.doubtnut.com/l/_LikfqGRqwjsB
https://dl.doubtnut.com/l/_quh7nafnlyod


56. Simplify each of the following expressionsas

logN. Determine the value of N. 

2 log 9 - log 18

Watch Video Solution

57. Simplify each of the following expressionsas

logN. Determine the value of N. 

2 log x - 3 log y - 4 log z

Watch Video Solution

https://dl.doubtnut.com/l/_L8YA9jbgF6r1
https://dl.doubtnut.com/l/_xH98QsNNyHHU


58. Simplify each of the following expressionsas

logN. Determine the value of N. 

Watch Video Solution

2 log( ) + 2 log( ) + 3 log( )
7
3

3

5

5

7

59. Expand the following 

Watch Video Solution

log(a . b5. c8)
3
4

https://dl.doubtnut.com/l/_4SnK21zij1J3
https://dl.doubtnut.com/l/_16NiUYNCZdmH


60. Expand the following 

Watch Video Solution

log( )
133

65

61. Expand the following 

Watch Video Solution

log(x3 )
y4

z

62. Expand the following 

log√
p4

q3

https://dl.doubtnut.com/l/_VQb8zn2ERqlA
https://dl.doubtnut.com/l/_zCfv0xFOcNXj
https://dl.doubtnut.com/l/_wexeri6pVBTU


Watch Video Solution

63. Expand the following 

log 500

Watch Video Solution

64.  is

A. a rational number

B. an irrational number

C. an odd number

√4

https://dl.doubtnut.com/l/_wexeri6pVBTU
https://dl.doubtnut.com/l/_NPOlIrLQvalp
https://dl.doubtnut.com/l/_CFeyXi9Mcdpd


D. none of these

Answer:

Watch Video Solution

65. The logarithmic form of  is

A. 

B. 

C. 

D. 

64 = 26

log2 64 = 6

log6 64 = 2

log464 = 2

log364 = 6

https://dl.doubtnut.com/l/_CFeyXi9Mcdpd
https://dl.doubtnut.com/l/_zFNNRyCIbR69


Answer:

Watch Video Solution

66. The exponential form of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

log1024
4 = 5

54 = 1024

64 = 1024

45 = 1024

28 = 1024

https://dl.doubtnut.com/l/_zFNNRyCIbR69
https://dl.doubtnut.com/l/_E84O1EscbukN


67. If  then y=

A. 3

B. 4

C. 6

D. 10

Answer:

Watch Video Solution

log2 8 = y

https://dl.doubtnut.com/l/_E84O1EscbukN
https://dl.doubtnut.com/l/_863HlXJCetfY


68.  అయిన x విలువ

A. 243

B. 81

C. 9

D. 6

Answer:

Watch Video Solution

log3 729 = x

69.  = .........log 15

https://dl.doubtnut.com/l/_ApINedVLZCRr
https://dl.doubtnut.com/l/_CaWz7MHFweMx


A. log 1 + log 5

B. log 10 + log 5

C. log 3+ log 5

D. 

Answer:

Watch Video Solution

log 3 × log 5

70. The product of L.C.M and H.C.F of the least

prime and least composite number is

A. 1

https://dl.doubtnut.com/l/_CaWz7MHFweMx
https://dl.doubtnut.com/l/_5hhyrNTncWbh


B. 3

C. 4

D. 2

Answer:

Watch Video Solution

71. The L.C.M. of 36 and 54 is

A. 18

B. 108

C. 36

https://dl.doubtnut.com/l/_5hhyrNTncWbh
https://dl.doubtnut.com/l/_wYqD34QLLnDY


D. 54

Answer:

Watch Video Solution

72. The sum of the exponents of the prime factor in

the prime factorisation of 108 is

A. 5

B. 6

C. 4

D. 1

https://dl.doubtnut.com/l/_wYqD34QLLnDY
https://dl.doubtnut.com/l/_jN0JHsVoqOP9


Answer:

Watch Video Solution

73.  is

A. a rational number

B. an irrational number

C. an integer

D. a natural number

Answer:

Watch Video Solution

1. ¯̄̄¯23

https://dl.doubtnut.com/l/_jN0JHsVoqOP9
https://dl.doubtnut.com/l/_bOFUGZSp6zF6


74. The HCF of 6, 72 and 120 is

A. 12

B. 15

C. 6

D. 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bOFUGZSp6zF6
https://dl.doubtnut.com/l/_cIRONK3p1DHw


75. The LCM of 8,9 and 25 is

A. 200

B. 1800

C. 225

D. 72

Answer:

Watch Video Solution

76. The rational number in between 

is………

and √1
1

2

https://dl.doubtnut.com/l/_T11z0aD9bFaa
https://dl.doubtnut.com/l/_DRmB6FQYzFQJ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9

4

3

4

5

4

5

4

77. Set of Rational and irrational numbers are

called…….

A. Real numbers

https://dl.doubtnut.com/l/_DRmB6FQYzFQJ
https://dl.doubtnut.com/l/_3oAERDBMaOKq


B. natural numbers

C. Whole numbers

D. Integers

Answer:

Watch Video Solution

78. log form of  is………..

A. 

B. 

C. 

35 = 243

log243
3 = 5

log243
5 = 3

log3
243 = 5

https://dl.doubtnut.com/l/_3oAERDBMaOKq
https://dl.doubtnut.com/l/_NrbKdMPMWJpY


D. 

Answer:

Watch Video Solution

log5
243 = 3

79. The symbol of "implies" is…….

A. 

B. 

C. 

D. 

⇔

⇒

∀

∃

https://dl.doubtnut.com/l/_NrbKdMPMWJpY
https://dl.doubtnut.com/l/_LQcu4lp8bDYx


Answer:

Watch Video Solution

80. The prime factorisation of 729 is……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

36

35

34

38

https://dl.doubtnut.com/l/_LQcu4lp8bDYx
https://dl.doubtnut.com/l/_yUGbFKdOQ1LB


81. If 'x' and 'y' are two prime numbers then their

HCF is………….

A. 0

B. 1

C. xy

D. x+y

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yUGbFKdOQ1LB
https://dl.doubtnut.com/l/_JY1S4Jey21l2
https://dl.doubtnut.com/l/_qyV5ZetwysSk


82.  =

A. -1

B. 1

C. -2

D. 2

Answer:

Watch Video Solution

log10 0.01

83. The number of odd numbers in between '0' and

100 is……………..

https://dl.doubtnut.com/l/_qyV5ZetwysSk
https://dl.doubtnut.com/l/_qelzPKDxyeJ3


A. 100

B. 51

C. 49

D. 50

Answer:

Watch Video Solution

84. The exponential form of  is…..

A. 

B. 'x^4= 5'

log5
4 = x

x5 = 4

https://dl.doubtnut.com/l/_qelzPKDxyeJ3
https://dl.doubtnut.com/l/_16B57OtQT77H


C. 

D. 

Answer:

Watch Video Solution

4x = 5

5x = 4

85. The valiue of  in decimal form is………

A. 0.036

B. 0.36

C. 0.0036

D. 3.6

36

23 × 53

https://dl.doubtnut.com/l/_16B57OtQT77H
https://dl.doubtnut.com/l/_OXZh0W5Itxu5


Answer:

Watch Video Solution

86. LCM of two numbers is 108 and their HCF is 9

and one of them is 54, So the second one is………

A. 9

B. 18

C. 6

D. 12

Answer:

https://dl.doubtnut.com/l/_OXZh0W5Itxu5
https://dl.doubtnut.com/l/_QSKQ8pxCJ6Qg


Watch Video Solution

87. The number of prime factors of 36 is

A. 4

B. 3

C. 2

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QSKQ8pxCJ6Qg
https://dl.doubtnut.com/l/_PMTDUkfIZBSr
https://dl.doubtnut.com/l/_54Vj4BILZ1Th


88. The exponential form of 

is………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

log10 0.001 = − 3

(0.001)10 = − 3

( − 3)10 = 0.001

103 = − 0.001

10− 3 = 0.001

https://dl.doubtnut.com/l/_54Vj4BILZ1Th


89. Which of the following is not a rational

number?

A. 

B. 

C. 123.123

D. 

Answer:

Watch Video Solution

log3
10

5. ¯̄̄¯23

10

19

90. LCM of 24 and 36 is……….

https://dl.doubtnut.com/l/_1Aq89eMAC4Fx
https://dl.doubtnut.com/l/_QxvG1gV7osQU


A. 24

B. 36

C. 72

D. 864

Answer:

Watch Video Solution

91. H.C.F. of 324 and 360 is…..

A. 9

B. 1

https://dl.doubtnut.com/l/_QxvG1gV7osQU
https://dl.doubtnut.com/l/_2i8m0yCybdgM


C. 63

D. 36

Answer:

Watch Video Solution

92. =….

A. 3

B. 

C. 

D. B and C

logX
3√X

1

3

0. 3̄

https://dl.doubtnut.com/l/_2i8m0yCybdgM
https://dl.doubtnut.com/l/_qGX10QBOgK15


Answer:

Watch Video Solution

93. =…..

A. 4

B. 8

C. 2

D. 3

Answer:

Watch Video Solution

log4 82

https://dl.doubtnut.com/l/_qGX10QBOgK15
https://dl.doubtnut.com/l/_jZAeF0VJ4Nf0


94. Last digit of  is……

A. 5

B. 6

C. 0

D. Cannot say

Answer:

Watch Video Solution

5100

https://dl.doubtnut.com/l/_jZAeF0VJ4Nf0
https://dl.doubtnut.com/l/_SS07Le5tvRnF


95.  వ్యవస్థి తం అవుతుందా?

A. deos not exist

B. 1

C. 0

D. exist

Answer:

Watch Video Solution

log10 0

96. If , then log 2 = 0.30103 log 32 = ….

https://dl.doubtnut.com/l/_VKKiGKjfEslI
https://dl.doubtnut.com/l/_ZxIgQBMbUTvR


A. 4.81648

B. 1.50515

C. 9.63296

D. 9.0309

Answer:

Watch Video Solution

97. If , then 

A. 4

B. 

log10 0.00001 − x x = ……

−4

https://dl.doubtnut.com/l/_ZxIgQBMbUTvR
https://dl.doubtnut.com/l/_MS62g1fQKnpA


C. 5

D. 

Answer:

Watch Video Solution

−5

98. If , then 

A. 2 or 3

B. 5 or 7

C. 

D. 8 or -2

loga ax2 + 5x + 8 = 2 x = ………

−2 and − 3

https://dl.doubtnut.com/l/_MS62g1fQKnpA
https://dl.doubtnut.com/l/_jEhzM5CKVq8H


Answer:

Watch Video Solution

99.  then 

A. 2

B. 

C. 3

D. 

Answer:

Watch Video Solution

log3 x2 = 2 x = ……

−2

−3

https://dl.doubtnut.com/l/_jEhzM5CKVq8H
https://dl.doubtnut.com/l/_Ve2uOBb6sRRo


100. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

log9 √3√3√3 =

7
8

7
16

1

16

1

8

https://dl.doubtnut.com/l/_Ve2uOBb6sRRo
https://dl.doubtnut.com/l/_obE14fQJrOA1


101. 

A. 

B. 16

C. 2048

D. 136

Answer:

Watch Video Solution

log8 128 =

7/3

102. Which of the following is an irrational number?

https://dl.doubtnut.com/l/_RovF2YjzEVXE
https://dl.doubtnut.com/l/_Nk97FD30ujlp


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√123

√322

√35 + 14

√25 + 16

103. The prime facrorization of 144 is

A. 

B. 

42 × 32

27 × 34

https://dl.doubtnut.com/l/_Nk97FD30ujlp
https://dl.doubtnut.com/l/_ac3M5mcjBiov


C. 

D. 

Answer:

Watch Video Solution

12 × 12

24 × 32

104. L.C.M of the numbers

 is

A. 

B. 

C. 

27 × 34 × 7 and 23 × 34 × 11

23 × 34

27 × 34

27 × 34 × 7 × 11

https://dl.doubtnut.com/l/_ac3M5mcjBiov
https://dl.doubtnut.com/l/_8HI4wL6GMoSx


D. 

Answer:

Watch Video Solution

23 × 34 × 7 × 11

105. The H.C.F of the number

 is

A. 

B. 

C. 

D. 

37 × 53 × 24 and 32 × 74 × 28

24 × 32

28 × 37 × 53 × 74

28 × 37

2 × 3 × 5 × 7

https://dl.doubtnut.com/l/_8HI4wL6GMoSx
https://dl.doubtnut.com/l/_P8bPCHdtHrfK


Answer:

Watch Video Solution

106. The decimal expansion of 0.225 in its rational

form is

A. 225

B. 

C. 

D. 

Answer:

225

104

225

102

9

40

https://dl.doubtnut.com/l/_P8bPCHdtHrfK
https://dl.doubtnut.com/l/_IfbU2Lr9NWlD


Watch Video Solution

107. Which of the following is a rational number?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√3

√5

√7

√9

https://dl.doubtnut.com/l/_IfbU2Lr9NWlD
https://dl.doubtnut.com/l/_joHoHo4Lc4c5
https://dl.doubtnut.com/l/_6mYtOmcU0Frv


108. What is the L.C.M of greatest 2 digit number

and the greatest 3 digit number?

A. 99xx999

B. 999

C. 99xx9xx111

D. 9xx11xx111

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_6mYtOmcU0Frv


109. What is the H.C.F of  where n is a

natural number?

A. n

B. n+1

C. 

D. 1

Answer:

Watch Video Solution

n and n + 1

n/2

https://dl.doubtnut.com/l/_GY9CQ3out9Z3


110. What is the L.C.M of least prime and the least

composite number?

A. least prime x least composite

B. 2

C. least composite

D. 6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_l5YLyyTsIHID


111. The product of L.C.M and H.C.F of the least

prime and least composite number is

A. 4

B. 6

C. 8

D. 16

Answer:

Watch Video Solution

112.  is divisible by 8, if n isn2 − 1

https://dl.doubtnut.com/l/_6d8rP06veG7v
https://dl.doubtnut.com/l/_AgRJKQwC48x2


A. an odd number

B. an even number

C. prime number

D. integer

Answer:

Watch Video Solution

113. If x and y are any two co-prime, then their L.C.M.

is

A. x+y

https://dl.doubtnut.com/l/_AgRJKQwC48x2
https://dl.doubtnut.com/l/_mKfh2N9oHtv3


B. x.y

C. 

D. x=y

Answer:

Watch Video Solution

x /y

114. If x and y are any two relative prime numbers,

then their H.C.f is

A. x.y

B. x.y

https://dl.doubtnut.com/l/_mKfh2N9oHtv3
https://dl.doubtnut.com/l/_3n3J5kWCMQ4h


C. y

D. 1

Answer:

Watch Video Solution

115. If m and n are co-primes, then H.C.F of

 is

A. m

B. n^2

C. m^2

m2 and n2

https://dl.doubtnut.com/l/_3n3J5kWCMQ4h
https://dl.doubtnut.com/l/_6g7PuyjmJZOY


D. 1

Answer:

Watch Video Solution

116. If n is a natural number, then which of the

following expression ends in zero?

A. 

B. 

C. 

D. 

(3 × 2)n

(5 × 7)n

(9 × 3)n

(2 × 5)n

https://dl.doubtnut.com/l/_6g7PuyjmJZOY
https://dl.doubtnut.com/l/_lkLvod5BgVYc


Answer:

Watch Video Solution

117. The number of prime factors of 72 is

A. 12

B. 2

C. 3

D. 6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_lkLvod5BgVYc
https://dl.doubtnut.com/l/_u1k1s62UkAVd


118. How many prime factors are there in the prime

factorization of 240?

A. 20

B. 5

C. 3

D. 6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_u1k1s62UkAVd
https://dl.doubtnut.com/l/_W1bHDfgcF6ui
https://dl.doubtnut.com/l/_6accEcnVy2Ed


119. After how many digits will the decimal

expansion of  terminates?

A. 5

B. 4

C. 3

D. Never

Answer:

Watch Video Solution

11/32

https://dl.doubtnut.com/l/_6accEcnVy2Ed


120. p,q are co-primes and  where m>n ,

then the decimal expansion of  terminates after

….places.

A. m

B. n

C. m.n

D. m+n

Answer:

Watch Video Solution

q = 2n.5m

p/q

https://dl.doubtnut.com/l/_ZiwNzs9UDmhz


121. The decimal expansion of  is

A. terminating

B. non-terminating & non-repeating

C. non-terminating ^ repeating

D. none

Answer:

Watch Video Solution

9

17

122.  is a…… number.5.67891̄

https://dl.doubtnut.com/l/_lX39UZQEfI2Z
https://dl.doubtnut.com/l/_3yXe4ccotc5L


A. prime

B. composite

C. irrational

D. rational

Answer:

Watch Video Solution

123.  is ……….

Number

A. irrational

0.12  112  1112  11112…….

https://dl.doubtnut.com/l/_3yXe4ccotc5L
https://dl.doubtnut.com/l/_ZYYodj8CQnK4


B. composite

C. irrational

D. rational

Answer:

Watch Video Solution

124.  is……number.

A. irrational

B. rational

C. composite

1

√2

https://dl.doubtnut.com/l/_ZYYodj8CQnK4
https://dl.doubtnut.com/l/_y1yYmOfmiAeb


D. prime

Answer:

Watch Video Solution

125.  is ……. Number.

A. natural

B. rational

C. whole

D. an irrational

3 × 5 × 7 × 11 + 35

https://dl.doubtnut.com/l/_y1yYmOfmiAeb
https://dl.doubtnut.com/l/_YSDxk6vYKZ49


Answer:

Watch Video Solution

126. The decimal expansion of  terminates

after…… places.

A. 5

B. 6

C. 4

D. 9

Answer:

209

80

https://dl.doubtnut.com/l/_YSDxk6vYKZ49
https://dl.doubtnut.com/l/_nHed4QTgAgxE


Watch Video Solution

127.  is divisible by………

A. 7 or 10

B. 7 or 19

C. 17 or 79

D. 8 or 231

Answer:

Watch Video Solution

7 × 11 × 17 + 34

https://dl.doubtnut.com/l/_nHed4QTgAgxE
https://dl.doubtnut.com/l/_WO4dcPDysdK1
https://dl.doubtnut.com/l/_8LVBGELs3rbD


128.  has……… decimal expansion.

A. Non-terminal

B. Terminal

C. Non-terminating, repeating

D. None

Answer:

Watch Video Solution

73
625

129. The number of prime factors of 1024 is…….

A. 12

https://dl.doubtnut.com/l/_8LVBGELs3rbD
https://dl.doubtnut.com/l/_BY2T0RTU47jc


B. 9

C. 7

D. 1

Answer:

Watch Video Solution

130. The decimal expansion of  is…….

A. 

B. 

C. 

101

99

1. ¯̄̄¯02

1. ¯̄̄¯07

1. ¯̄̄¯39

https://dl.doubtnut.com/l/_BY2T0RTU47jc
https://dl.doubtnut.com/l/_RQlx59YzeVpW


D. 

Answer:

Watch Video Solution

1. ¯̄̄¯14

131. The period of the decimal expansion of 

is……..

A. 917461

B. 904761

C. 940761

D. None

19

21

https://dl.doubtnut.com/l/_RQlx59YzeVpW
https://dl.doubtnut.com/l/_mVo4xTTOjFhh


Answer:

Watch Video Solution

132. If a rational number  has a terminating

decimal, then the prime factorisation of q is of the

form……….

A. 

B. 

C. 

D. 

p/q

3m5n

3m

3m5n3p

2m5n

https://dl.doubtnut.com/l/_mVo4xTTOjFhh
https://dl.doubtnut.com/l/_xv8y1LTI3jaO


Answer:

Watch Video Solution

133. The prime factorisation of 20677 is……………

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

13 × 29 × 71

23 × 29 × 31

19 × 23 × 17

https://dl.doubtnut.com/l/_xv8y1LTI3jaO
https://dl.doubtnut.com/l/_vD28VXutjKes


134. The LCM of 208 and 209 is………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

208 × 109

19 × 218

104 × 20

208 × 209

https://dl.doubtnut.com/l/_vD28VXutjKes
https://dl.doubtnut.com/l/_Uu3WZqUKFUBJ


135. The HCF of 1001 and 1002 is…….

A. 1

B. 7

C. 9

D. 11

Answer:

Watch Video Solution

136. If  are co-primes then

their LCM is……..

P1, P2, P3, …. . , Pn

https://dl.doubtnut.com/l/_yEebcMCeDaul
https://dl.doubtnut.com/l/_sPvEqQHwiWQl


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

p3p5p7

p6p7…. pn

p1p2…. pn

p2p4…pn

137. The decimal expansion of  without actual

division is…….

A. 0.4375

7
16

https://dl.doubtnut.com/l/_sPvEqQHwiWQl
https://dl.doubtnut.com/l/_vOYCvSRdu8Nv


B. 4.375

C. 43.75

D. 0.0004375

Answer:

Watch Video Solution

138. The expansion of  terminating after…..

Places.

A. 6

B. 4

87
625

https://dl.doubtnut.com/l/_vOYCvSRdu8Nv
https://dl.doubtnut.com/l/_I6FLfeLS0Esm


C. 14

D. 9

Answer:

Watch Video Solution

139. The expansion of  terminates after………

places.

A. 9

B. 7

C. 3

123

125

https://dl.doubtnut.com/l/_I6FLfeLS0Esm
https://dl.doubtnut.com/l/_uMXddZv89GH6


D. None

Answer:

Watch Video Solution

140. The decimal form of  repeats

after……..places.

A. 16

B. 12

C. 7

D. None

80

81

https://dl.doubtnut.com/l/_uMXddZv89GH6
https://dl.doubtnut.com/l/_i3lzT8s3MCr8


Answer:

Watch Video Solution

141.  is a……….decimal.

A. terminating

B. non-terminating

C. Non-terminatin repeating

D. none

Answer:

Watch Video Solution

70

71

https://dl.doubtnut.com/l/_i3lzT8s3MCr8
https://dl.doubtnut.com/l/_qTF5paGw3Zqz


142.  is a………decimal.

A. terminating

B. non-terminating

C. non-terminating, repeating

D. none

Answer:

Watch Video Solution

123

125

https://dl.doubtnut.com/l/_qTF5paGw3Zqz
https://dl.doubtnut.com/l/_HDGlYCUhSS5R


143.  may certain the denominator when

expressed in  form is………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

14.381

p/q

83 × 63

123 × 43

23 × 53

73 × 83

144. 5√5 + 6√5 − 2√5 = ……. .

https://dl.doubtnut.com/l/_OhsgrSfBqLaD
https://dl.doubtnut.com/l/_0gnTGC9fryHi


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

6√5

7√5

2√5

9√5

145. 

A. 16

B. 18

9√2 × √2 = ………. .

https://dl.doubtnut.com/l/_0gnTGC9fryHi
https://dl.doubtnut.com/l/_JgvH05QCF60L


C. 19

D. 20

Answer:

Watch Video Solution

146. 

A. 0

B. 

C. 1

D. 7

log10 10 = ….

−1

https://dl.doubtnut.com/l/_JgvH05QCF60L
https://dl.doubtnut.com/l/_VoIpysmePALJ


Answer:

Watch Video Solution

147. 

A. 4

B. 3

C. 

D. 12

Answer:

Watch Video Solution

loga( ) =
1

a

−1

https://dl.doubtnut.com/l/_VoIpysmePALJ
https://dl.doubtnut.com/l/_Oelu2Z0nz1A7


148. 

A. 7

B. 3

C. 4

D. 1

Answer:

Watch Video Solution

logb a. loga b = ………….

https://dl.doubtnut.com/l/_Oelu2Z0nz1A7
https://dl.doubtnut.com/l/_UCWBWcpQSrD8


149. 

A. 1

B. 

C. 0

D. not defined

Answer:

Watch Video Solution

log1 1 = …

−1

150. log0.1 0.01 = ……………. .

https://dl.doubtnut.com/l/_fOePSG1dWTKK
https://dl.doubtnut.com/l/_z8zsHPrGRNAK


A. 8

B. 6

C. 9

D. None

Answer:

Watch Video Solution

151. 

A. 1

B. 2

log 2 + log 5 = ………….

https://dl.doubtnut.com/l/_z8zsHPrGRNAK
https://dl.doubtnut.com/l/_3trW9AvWI7pj


C. 9

D. 12

Answer:

Watch Video Solution

152.  then 

A. 9

B. 12

C. 5

D. 19

16 × 64 = 4k k = ………….

https://dl.doubtnut.com/l/_3trW9AvWI7pj
https://dl.doubtnut.com/l/_DcsgszPPaCX1


Answer:

Watch Video Solution

153.  is called……..property.

A. Associative

B. Identity

C. Inverse

D. commulative

Answer:

Watch Video Solution

a + b = b + a

https://dl.doubtnut.com/l/_DcsgszPPaCX1
https://dl.doubtnut.com/l/_jNEICe9Vte5Z


154. 

A. 5

B. 3

C. 15

D. 12

Answer:

Watch Video Solution

log5 125 = ………. .

https://dl.doubtnut.com/l/_jNEICe9Vte5Z
https://dl.doubtnut.com/l/_pkR5V5ioPMtg


155. Exponential form of  is………

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

log4 64 = 3

43 = 64

34 = 64

42 = 81

156.  = .........log 15

https://dl.doubtnut.com/l/_4qsOuDPM76rC
https://dl.doubtnut.com/l/_atkijS55ZFOh


A. log 5+ log 10

B. log 3+ log 12

C. log 5 + log 3

D. all the above

Answer:

Watch Video Solution

157.  is……number.

A. rational

B. an irrational

1

√2

https://dl.doubtnut.com/l/_atkijS55ZFOh
https://dl.doubtnut.com/l/_6DVNMYbM51W5


C. natural

D. whole

Answer:

Watch Video Solution

158.  = …….

A. P

B. C

C. R

D. None

Q ∪ Qc

https://dl.doubtnut.com/l/_6DVNMYbM51W5
https://dl.doubtnut.com/l/_Ms5pe2eGt93Q


Answer:

Watch Video Solution

159. …………… is called the additive identity.

A. 0

B. 1

C. 2

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Ms5pe2eGt93Q
https://dl.doubtnut.com/l/_DduGm5RcmtEp


160.  then 

A. 2.42

B. 13.42

C. 42.42

D. 4.242

Answer:

Watch Video Solution

√2 = 1.414 3√2 = ………

https://dl.doubtnut.com/l/_DduGm5RcmtEp
https://dl.doubtnut.com/l/_OE3alvcIcUDW


161. Without performing division, state whether the

following rational numbers will have a terminating

decimal form or a non-terminating, repeating

decimal form. (vi) 

A. 11.5

B. 0.115

C. 1.15

D. 115.1

Answer:

Watch Video Solution

23

23 × 52

https://dl.doubtnut.com/l/_IQajMpPFCUMc


162. 0.9375= …….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

15

16

5

16

16

15

18

1199

163. 4 = ……………
1

5

https://dl.doubtnut.com/l/_OTeprx5OmAKP
https://dl.doubtnut.com/l/_zOEqK36VSTfW


A. 4.12

B. 4.2

C. 0.42

D. 4.02

Answer:

Watch Video Solution

164. 

A. 

B. 

= ………….
5

11

0. ¯̄̄¯43

0. ¯̄̄¯44

https://dl.doubtnut.com/l/_zOEqK36VSTfW
https://dl.doubtnut.com/l/_GLFdpvLSzPJA


C. 

D. 

Answer:

Watch Video Solution

0. ¯̄̄¯31

0. ¯̄̄¯45

165. LCM of 12, 15 and 21 is………

A. 420

B. 440

C. 820

D. 110

https://dl.doubtnut.com/l/_GLFdpvLSzPJA
https://dl.doubtnut.com/l/_HpB3ESSx0Cxe


Answer:

Watch Video Solution

166. 0.4=……

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

2

5

5

2

1

9

https://dl.doubtnut.com/l/_HpB3ESSx0Cxe
https://dl.doubtnut.com/l/_upVPbM79GNWd


167. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√ = …………. .
4

9

3

2

2

3

√2

3

2

√3

https://dl.doubtnut.com/l/_upVPbM79GNWd
https://dl.doubtnut.com/l/_oQiLwiTS9FHj


168. HCF of 12, 18 is…………..

A. 12

B. 9

C. 2

D. 6

Answer:

Watch Video Solution

169. 22 × 5 × 7 = ………

https://dl.doubtnut.com/l/_CP2Sp2aTJO3J
https://dl.doubtnut.com/l/_TKnjVVLEuOZ8


A. 240

B. 144

C. 140

D. 909

Answer:

Watch Video Solution

170.  =

A. 

B. 2

loga 1

a2

https://dl.doubtnut.com/l/_TKnjVVLEuOZ8
https://dl.doubtnut.com/l/_nfeENXfrk1Zr


C. 1

D. 0

Answer:

Watch Video Solution

171. 

A. 15

B. 1

C. 5

D. 0

log2015 2015 = ………. .

https://dl.doubtnut.com/l/_nfeENXfrk1Zr
https://dl.doubtnut.com/l/_n1JgLbmA9zrA


Answer:

Watch Video Solution

172. Multiplicative inverse of  is……

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3
1

3

3
1

3

3

13

3

10

3

14

https://dl.doubtnut.com/l/_n1JgLbmA9zrA
https://dl.doubtnut.com/l/_d2h3lYGQ9YJq


173.  is called…… property.

A. Associative

B. Inverse

C. Identity

D. None

Answer:

Watch Video Solution

(ab)c = a(bc)

https://dl.doubtnut.com/l/_d2h3lYGQ9YJq
https://dl.doubtnut.com/l/_UxH8ibtZzuUi


174. 

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

= ……….
41

75

42

352

41

3252

1

352

175.  = .........log 64 − log 4

https://dl.doubtnut.com/l/_qBhaJck78xAJ
https://dl.doubtnut.com/l/_i94XLCOKjnBc


A. 4

B. 7

C. 1

D. None

Answer:

Watch Video Solution

176. LCM of 306 and 657 is……..

A. 22338

B. 23238

https://dl.doubtnut.com/l/_i94XLCOKjnBc
https://dl.doubtnut.com/l/_zqIGGkIKJY9T


C. 11128

D. None

Answer:

Watch Video Solution

177. 

A. 1.675

B. 23.34

C. 81.45

D. None

= …………
1167
50

https://dl.doubtnut.com/l/_zqIGGkIKJY9T
https://dl.doubtnut.com/l/_drq1vPCT0XQS


Answer:

Watch Video Solution

178.  can not end with……….

A. 6

B. 0

C. 2

D. None

Answer:

Watch Video Solution

6n

https://dl.doubtnut.com/l/_drq1vPCT0XQS
https://dl.doubtnut.com/l/_aqvaBG7x1GMY


179. 

A. 405

B. 54

C. 45

D. 55

Answer:

Watch Video Solution

√2025 = ………

https://dl.doubtnut.com/l/_aqvaBG7x1GMY
https://dl.doubtnut.com/l/_hHV6DOyYkZnA


180.  = ........

A. 1325

B. 1125

C. 3125

D. 1859

Answer:

Watch Video Solution

55

181.  is…………….
3

8

https://dl.doubtnut.com/l/_da4mUgMgw61a
https://dl.doubtnut.com/l/_bqsLrdzJPJQA


A. 0.375

B. 3.75

C. 8.175

D. None

Answer:

Watch Video Solution

182. 

A. 1.414

B. 2.236

√5 = ……….

https://dl.doubtnut.com/l/_bqsLrdzJPJQA
https://dl.doubtnut.com/l/_Y7ywSjtRma7U


C. 1.73

D. 2.998

Answer:

Watch Video Solution

183. 

A. 2

B. 8

C. 4

D. 12

log2 16 = …………

https://dl.doubtnut.com/l/_Y7ywSjtRma7U
https://dl.doubtnut.com/l/_Q8l0SwFcnsbW


Answer:

Watch Video Solution

184.  = ........

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

2 log 3 + 3 log 5 − 5 log 2

log( )
1125

32

log( )
125

23

log( )
1025

16

https://dl.doubtnut.com/l/_Q8l0SwFcnsbW
https://dl.doubtnut.com/l/_8jfbKx3nqdWS


185. 

A. 16

B. 20

C. 19

D. 10

Answer:

Watch Video Solution

log2 1024 = ……….

https://dl.doubtnut.com/l/_8jfbKx3nqdWS
https://dl.doubtnut.com/l/_tL0vJ4KwqZTS


186. 

A. 2

B. 16

C. 19

D. 12

Answer:

Watch Video Solution

log18 324 = ……….

187. log3 = ……. .
1

27

https://dl.doubtnut.com/l/_p1LQafRaAr0x
https://dl.doubtnut.com/l/_VyiPVGn7ab2K


A. 3

B. 6

C. 

D. 

Answer:

Watch Video Solution

−3

−7

188. 

A. 12

B. 19

log6 1 = …. .

https://dl.doubtnut.com/l/_VyiPVGn7ab2K
https://dl.doubtnut.com/l/_8M3apHz6Z47w


C. 7

D. 0

Answer:

Watch Video Solution

189. =…

A. 9

B. 6

C. 4

D. None

128 ÷ 32

https://dl.doubtnut.com/l/_8M3apHz6Z47w
https://dl.doubtnut.com/l/_hMGd1CfvN7tm


Answer:

Watch Video Solution

190. కింది వాటిని ఘతరూపంలో వ్రా సి తద్వారా

చారరాషులను నిర్ణ యించండి. 

A. 4

B. 3

C. 2

D. None

Answer:

log10 10000 = z

https://dl.doubtnut.com/l/_hMGd1CfvN7tm
https://dl.doubtnut.com/l/_CwhCS0tHYMz9


Watch Video Solution

191.  =

A. 

B. 

C. 1

D. 

Answer:

Watch Video Solution

log27 9

3

2

2

3

1

2

https://dl.doubtnut.com/l/_CwhCS0tHYMz9
https://dl.doubtnut.com/l/_ovBRJbimxTFP
https://dl.doubtnut.com/l/_IiVT0h2V7gPZ


192. =…..

A. 1

B. 10

C. 11

D. 12

Answer:

Watch Video Solution

log7 √49

193. Expand form of log 1000 is

A. 3 log 2+ 3 log 5

https://dl.doubtnut.com/l/_IiVT0h2V7gPZ
https://dl.doubtnut.com/l/_s7lmcQGPkG3c


B. 2 log 2 + log 5

C. log2-log 5

D. None

Answer:

Watch Video Solution

194.  =..........

A. 

B. 

C. 

(log x) − (log y)
3

2

log √x
3

y2

log√
x3

y2

log( )
x3

y2

https://dl.doubtnut.com/l/_s7lmcQGPkG3c
https://dl.doubtnut.com/l/_MDow25czCIUU


D. None

Answer:

Watch Video Solution

195. 

A. 3.1251

B. 1.15

C. 3.25

D. None

= ……….
13

4

https://dl.doubtnut.com/l/_MDow25czCIUU
https://dl.doubtnut.com/l/_IhXZgIHHZXHn


Answer:

Watch Video Solution

196. 

A. 12

B. 10

C. 9

D. 2

Answer:

Watch Video Solution

(√7 + √5)(√7 − √5) = ...............

https://dl.doubtnut.com/l/_IhXZgIHHZXHn
https://dl.doubtnut.com/l/_dSbusZys6DwJ


197. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2√3 + 7√3 + √3 = ……………. .

110√3

7√3

9√3

10√3

https://dl.doubtnut.com/l/_dSbusZys6DwJ
https://dl.doubtnut.com/l/_MDo5JCzZC29P


198. 

A. 9

B. 10

C. 3

D. 12

Answer:

Watch Video Solution

log2 512 = ……….

199. Logarithmic form of  is……….ax = b

https://dl.doubtnut.com/l/_PfbPYGXelgID
https://dl.doubtnut.com/l/_VWnNi5jsynNP


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

logb x = a

logx b = a

logb a = x

loga b = x

200. 

A. 10009

B. 10090

104 = ………. .

https://dl.doubtnut.com/l/_VWnNi5jsynNP
https://dl.doubtnut.com/l/_mGKJHwce6CFB


C. 10000

D. None

Answer:

Watch Video Solution

201. ………… has no multiplication inverse.

A. 

B. 

C. 

D. 0

9

7

2

3

9

14

https://dl.doubtnut.com/l/_mGKJHwce6CFB
https://dl.doubtnut.com/l/_sH5exftOAAY2


Answer:

Watch Video Solution

202. 

A. 101

B. 

C. 302

D. 203

Answer:

Watch Video Solution

| − 203| = ………….

−203

https://dl.doubtnut.com/l/_sH5exftOAAY2
https://dl.doubtnut.com/l/_xspLPRgJFwZG


203. Write the following using powers 

A. 6

B. 4

C. 2

D. None

Answer:

Watch Video Solution

log3( )
1

9

https://dl.doubtnut.com/l/_xspLPRgJFwZG
https://dl.doubtnut.com/l/_SXajWaOcCRMr
https://dl.doubtnut.com/l/_fsCE8DC1Nd4k


204. HCF of 1 and 143=……….`

A. 1

B. 43

C. 34

D. 10

Answer:

Watch Video Solution

205. 

A. ab+c

a(b + c) = ………………

https://dl.doubtnut.com/l/_fsCE8DC1Nd4k
https://dl.doubtnut.com/l/_kUHawyccmS8w


B. bc+d

C. ab+ac

D. a+bc

Answer:

Watch Video Solution

206.  is called…………….

A. Inverse

B. Identity

C. Commutative

a + ( − a) = ( − a) + a

https://dl.doubtnut.com/l/_kUHawyccmS8w
https://dl.doubtnut.com/l/_cLleEMW7qOqG


D. None

Answer:

Watch Video Solution

207. 

A. 

B. 

C. 

D. 

log32 = ………
1

4

1

4

1

2

−
5

2

−
2

5

https://dl.doubtnut.com/l/_cLleEMW7qOqG
https://dl.doubtnut.com/l/_9dLi1FrEcUxK


Answer:

Watch Video Solution

208. 

A. 2

B. 6

C. 0.1

D. None

Answer:

Watch Video Solution

log10 10 = ….

https://dl.doubtnut.com/l/_9dLi1FrEcUxK
https://dl.doubtnut.com/l/_TiddWckb4ALm


209. 

A. 161

B. 122

C. 112

D. 113

Answer:

Watch Video Solution

√12544 = ……………

https://dl.doubtnut.com/l/_TiddWckb4ALm
https://dl.doubtnut.com/l/_CYhhPBVxGc60


210. =….

A. ab

B. 

C. 

D. 

Answer:

Watch Video Solution

√a√b

b√a

a√b

√ab

211. Which of the following is a correct one?

https://dl.doubtnut.com/l/_VfSYc43XiRUW
https://dl.doubtnut.com/l/_IBHeyki63SMs


A. 

B. 

C. 

D. all the above

Answer:

Watch Video Solution

N ⊂ Z ⊂ W

N ⊂ W ⊂ Z

R ⊂ N ⊂ W

212. =….

A. 

B. 

logx( )
a

b

logx a − logx b

logx a + logx b

https://dl.doubtnut.com/l/_IBHeyki63SMs
https://dl.doubtnut.com/l/_B8u8Jrz1ykkg


C. log (ab)

D. None

Answer:

Watch Video Solution

213. Use Euclids division algorithm to find the HCF

of 

800 and 34960.

Watch Video Solution

https://dl.doubtnut.com/l/_B8u8Jrz1ykkg
https://dl.doubtnut.com/l/_1d06PzCYCSi2


214. Find the LCM and HCF of the following integers

by the prime factorization method. 

20, 35 and 45

Watch Video Solution

215. Find the LCM and HCF of the following integers

by the prime factorization method. 

13, 19 and 29

Watch Video Solution

https://dl.doubtnut.com/l/_lnaAw35Coe6B
https://dl.doubtnut.com/l/_i7V6QFzfwpMU


216. Find the LCM and HCF of the following integers

by the prime factorization method. 

168 and 216

Watch Video Solution

217. Find the LCM and HCF of the following integers

by the prime factorization method. 

468 and 612

Watch Video Solution

https://dl.doubtnut.com/l/_VRLEFbtpZi5v
https://dl.doubtnut.com/l/_Mo6y0I4GDvfZ


218. Write the following rational numebr in their

decimal form and also state which are terminating

and which have non-terminating, a repeating

decimal. 

Watch Video Solution

7
8

219. Write the following rational numers in their

decimal form and also state which are terminating

and which have non-terminating, a repeating

decimal. 

13

200

https://dl.doubtnut.com/l/_wCQQ1l3ErI6n
https://dl.doubtnut.com/l/_XQRClUm7Ni31


Watch Video Solution

220. Write the following rational numers in their

decimal form and also state which are terminating

and which have non-terminating, a repeating

decimal. 

Watch Video Solution

31

125

221. Write the following rational numers in their

decimal form and also state which are terminating

and which have non-terminating, a repeating

https://dl.doubtnut.com/l/_XQRClUm7Ni31
https://dl.doubtnut.com/l/_fyox9u3v1aof
https://dl.doubtnut.com/l/_k1LHKJleqD70


decimal. 

Watch Video Solution

5

11

222. Expand the following 

log 500

Watch Video Solution

223. Expand the following 

Watch Video Solution

log( )
216

125

https://dl.doubtnut.com/l/_k1LHKJleqD70
https://dl.doubtnut.com/l/_euKimBUkgEwk
https://dl.doubtnut.com/l/_eTFcv9R7E5xX


224. Expand the following 

Watch Video Solution

log(x2y4z3)

225. Expand the following 

Watch Video Solution

log( )
p2q3

r2

https://dl.doubtnut.com/l/_eTFcv9R7E5xX
https://dl.doubtnut.com/l/_dIJBczcnh18f
https://dl.doubtnut.com/l/_zldZLu2gwxr9


226. Expand the following 

Watch Video Solution

log√
x5

y3

227. Prove that  irrational where a,b are

primes.

Watch Video Solution

√a − √b

228. which of the following rational number is

terminating?

https://dl.doubtnut.com/l/_4Esbhx0lNBMF
https://dl.doubtnut.com/l/_E4llpMSdpb01
https://dl.doubtnut.com/l/_Ajpk7lGNcoPq


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2

3

8

9

3

8

1

7

229. After how many digits will the decimal

expansion of  come to an end?

A. 1

3

4

https://dl.doubtnut.com/l/_Ajpk7lGNcoPq
https://dl.doubtnut.com/l/_NRTYEvBTI01X


B. 2

C. 3

D. 4

Answer:

Watch Video Solution

230. The number of digit in the fractional part of

the decimal form of  is

A. 1

B. 1

7

40

https://dl.doubtnut.com/l/_NRTYEvBTI01X
https://dl.doubtnut.com/l/_N7fvIUxa9AWS


C. 2

D. 3

Answer:

Watch Video Solution

231. The decimal expansion of  is

A. 2.375

B. 2.225

C. 2.125

D. 

19

8

2.75

https://dl.doubtnut.com/l/_N7fvIUxa9AWS
https://dl.doubtnut.com/l/_MYKrbKuTtKR5


Answer:

Watch Video Solution

232. Which of the following is irrational?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√4

√3

√15

√1

https://dl.doubtnut.com/l/_MYKrbKuTtKR5
https://dl.doubtnut.com/l/_XTTFz8FTXfm9


233. The prime factorisation of 216 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

22 × 32

23 × 32

23 × 33

24 × 3

https://dl.doubtnut.com/l/_XTTFz8FTXfm9
https://dl.doubtnut.com/l/_XoofKAqv6e9Z


234. 0.00025=…

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

25

104

25

105

25

103

25

106

235. 0.0875=….

https://dl.doubtnut.com/l/_MFsX4jhUqzMz
https://dl.doubtnut.com/l/_5FqDgPDSfZbC


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

7

24 × 5

7

23 × 52

8

24 × 5

8

23 × 52

236.  can be written as

A. 

B. 

7
25

7

52 × 22

28

52 × 22

https://dl.doubtnut.com/l/_5FqDgPDSfZbC
https://dl.doubtnut.com/l/_88EWx910aGH7


C. 

D. 

Answer:

Watch Video Solution

14

82 × 22

7
5 × 2

237.  is

A. a rational number

B. an irrational number

C. an integer

D. a natural number

√5

https://dl.doubtnut.com/l/_88EWx910aGH7
https://dl.doubtnut.com/l/_8m70jLNL3K9s


Answer:

Watch Video Solution

238.  is an ……. Number.

A. natural

B. irrational

C. rational

D. none

Answer:

Watch Video Solution

0.3030030003…

https://dl.doubtnut.com/l/_8m70jLNL3K9s
https://dl.doubtnut.com/l/_J47quNs8LfA5


239.  is……… number.

A. whole

B. irrational

C. rational

D. none

Answer:

Watch Video Solution

743.211111……….

https://dl.doubtnut.com/l/_J47quNs8LfA5
https://dl.doubtnut.com/l/_MfCmDexwngy1


240. The logarithmic form of  is………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

122 = 144

log144 12 = 2

log12 144 = 2

log12 14 = 2

log7 14 =

241. log = ………
125

16

https://dl.doubtnut.com/l/_4B6qEXFH2hni
https://dl.doubtnut.com/l/_GboQWc2S9got


A. 3 log5- log4

B. log5-log3

C. 3 log 5-log2

D. 3log5- 4 log 2

Answer:

Watch Video Solution

242.  in the expanded form is…………

A. 2 log x + 3 log y + 4 log z- 5log w

B. log x+ log y + 4 log z- 5 log w

log
x2y3z4

w5

https://dl.doubtnut.com/l/_GboQWc2S9got
https://dl.doubtnut.com/l/_Gok2e2HnfDPQ


C. 2 log x-3logy-4 log z - 5 log w

D. None

Answer:

Watch Video Solution

243. Logarithmic form of  is…….

A. 

B. 

C. 

D. None

192 = 361

log361 19 = 2

log19 361 = 2

log19(36)

https://dl.doubtnut.com/l/_Gok2e2HnfDPQ
https://dl.doubtnut.com/l/_xTGFgK9u0N8O


Answer:

Watch Video Solution

244. 

A. log3+log 5

B. 3 log3 + 5 log 5

C. log 3 + 5 log 5

D. 4 log 3+ 2log 5

Answer:

Watch Video Solution

log 81 × 25 = ………. .

https://dl.doubtnut.com/l/_xTGFgK9u0N8O
https://dl.doubtnut.com/l/_y53z1rAQ8jvL


245.  is .......... decimal.

A. terminating

B. non-terminating

C. non-terminating,repeating

D. none

Answer:

Watch Video Solution

13

125

https://dl.doubtnut.com/l/_y53z1rAQ8jvL
https://dl.doubtnut.com/l/_BkfKSU4tvz2g


246.  is…..decimal.

A. non-terminating, repeating

B. terminating

C. non-terminating

D. none

Answer:

Watch Video Solution

28

82

247.  is…….. Number.√5 + √7

https://dl.doubtnut.com/l/_v6DXuLqOIc9F
https://dl.doubtnut.com/l/_pIWWwQIfM138


A. natural

B. whole

C. interger

D. an irrational

Answer:

Watch Video Solution

248. Use Euclid's division algorithm to find the HCF

of (i) 900 and 270

Watch Video Solution

https://dl.doubtnut.com/l/_pIWWwQIfM138
https://dl.doubtnut.com/l/_47Cepwc14tTT


249. Show that HCF of numbers 900 and 270

follows Euclid's division algorithm.

Watch Video Solution

250. How will you show that

 is a composite

numbers ? Explain.

Watch Video Solution

(17 × 11 × 2) + (17 × 11 × 5)

https://dl.doubtnut.com/l/_MSVa1LD5LyuP
https://dl.doubtnut.com/l/_Z81vpvobscj2


251. Prove that  is an irrational, where p,q

are primes.

Watch Video Solution

√p + √q

252. Write the following relation in exponential

form of  


Watch Video Solution

log4
5 = x

253. Write the following relation in exponential

form of  
log4
5 = x

https://dl.doubtnut.com/l/_bkpHACw4JN3W
https://dl.doubtnut.com/l/_yhvRgqLbiNqc
https://dl.doubtnut.com/l/_JDdd394w9uHc


Watch Video Solution

254. Write the following relation in exponential

form of  


Watch Video Solution

log4
5 = x

255. Write the following relation in exponential

form of  


Watch Video Solution

log4
5 = x

https://dl.doubtnut.com/l/_JDdd394w9uHc
https://dl.doubtnut.com/l/_zdgwQx6DDmti
https://dl.doubtnut.com/l/_bwMcJ2BcoKOK
https://dl.doubtnut.com/l/_MAj43GVpnx7n


1. The decimal expansion of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

27
14

1. ¯̄¯̄¯̄¯̄¯̄¯̄¯̄9285714

1.9285714

1.9285714

0.19̄ ¯̄¯̄¯̄¯̄¯̄¯285714

https://dl.doubtnut.com/l/_MAj43GVpnx7n

